| Motorized Stage

M X-axis Linear Ball Guide : KXG06020V

001

KXG06020TV-P28

KXG06020MV-P28

m [ [
Motor bracket 0
(installed on main body)
Coupling
(with screws) O

_[ForMotor | dofM256 | 4ofmz12 | 2ofma-12
Mounting -
screw For Main .

Body 4of M4-10

Sensor cable O(HR10AP-S-SB-6-[])
Cable tie 0 ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

KXG06020TV-P28- ]

n Connector specifications E Application Motor
Code Specification
P28 [7128 Stepping motor specification
e S38 (138 Servo motor specification
T Pig tail S40 | (1140 Servo motor specifications
K] cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
M Panel mount 5 Sensor cable 5m One end loose wire

Model KXG06020TV-P28 KXG06020MV-P28
S |Travel distance 20mm
% Stage surface size 60x60mm
g [Connector type Pigtail [ Panel Mount
_g Feed screw (Ball screw) @8 Lead 1
8. |Guide Linear Ball Guide
g_,' Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 0.60kg
Resolution/ Full/Half 2um/1um
Pulse Micro step 0.1pm (1/20 On resolution)
MAX speed 20mm/sec
Z |Uni-directional positioning accuracy 5um
2 |Repeatability positioning accuracy +0.5ym
& |Load capacity 10kgf[98N]
?‘: Moment stiffness Pitch 0.08/Yaw 0.05/Roll 0.05["/N « cm]
S |Lost motion 1um
8 |Backlash 1ym
S [Straightness 3um
Parallelism 15pm
Motion parallelism 10pm
Pitching/Yawing 20"/15"
o |Limit sensor Available
% Origin sensor Available

Slit origin sensor

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 0.64kg.



Dimensions

835
KXG06020TV-P28  4-4.5THRU O'8C'BORE 60 235
(Bolt hole for M4) 25 25 16
5 8-M4 5DP 16_|_16 15115 | 4-03
=RS1S N & |4 S
+) 1 (=]
] i —
8 i 1o* o P = =
g% o= =9 2
O Y S
s b 1& Connector HR10A-7J-6P(73)
© 8:M3 5DP L IR O
Connector HR10A-7P-6S(73
sl ‘ Ea 2
g H M
50 zjles| B g |-
3|9
EagiTollaY]
< [—| N
ol Jol &lele
=
T
g —
= © ]
0
55 5(H7) 4DP
50
KXG06020TV-S38  4-4.5THRU O8C'BORE 102
(Bolt hole for M4) 60 2
2% 25
5. 8-M4 5DP 16 | 16
ERSIA & | < =
o a :g ;¥ 0 @hj
8 3 o4 bop 5
o= O CYmy
“alk e %+
=l & & wormwm-sms)
_ /o Ty
8:M3 S0P ALl
0 Connector HR10A-7P-6S(73)
\ah
S ) 3
=
© 50 151 245 |[35E| | Jss
B|10(37F
Jé n m o
(o__Jo| glelelg
& —
g|
= ©
55 P5(H7) 4DP
50
102
KXG06020TV-S40  4.45THRU (O8C'BORE 60 2
{Bolt hole for M4) 2% __25
8-M4 5DP 16_[ 16
o 4 2
o
Qg o o [0
3 3 o4 4o =
o o C¥mi
$ +
o o Nmr HR10A-7J-6P(73)
8-M3 5DP '
© Connector HR10A-7P- 65 (73)
7
8w =2 g
g HE
- 50 75|1| 245 1|35 2| |, |ss
s b
e o) feys
° BE R 35818
=
g -
=
s ©
55 P5(H7) 4DP
50




| Motorized Stage

M XY-axis Linear Ball Guide :KYG06020V

003

KYG06020TV-P28

KYG06020MV-P28

KYG06020TV-P28-[]

m [ [
Motor bracket 0
(installed on main body)
Coupling
(with screws) O

_[ForMotor | 8ofM256 | BofM312 | dofm4-12
Mounting -
screw For Main .

Body 4of M4-10

Sensor cable O(HR10AP-S-SB-6-[])
Cable tie 0 ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

n Connector specifications

E Application Motor

T Pig tail

M Panel mount

Code Specification

P28 (128 Stepping motor specification

S38 [138 Servo motor specification

S40 [140 Servo motor specifications

K] cable option

Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KYG06020TV-P28 KYG06020MV-P28
= [Travel distance 20mm

S |Stage surface size 60x60mm

%‘ Connector type Pigtail \ Panel Mount
g |Feed screw (Ball screw) $8 Lead 1

8. |Guide Linear Ball Guide

g,' Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 1.20kg

§ Resolution/ |Full/Half 2um/1pm

g [Pulse Micro step 0.1pm(1/20 On resolution)

8 |MAX speed 20mm/sec

%z Load capacity 9kgf[88.2N]

S |Squareness 10pm/Full stroke

o |Limit sensor Available

% Origin sensor Available

= Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5um

£ |Lost motion 1ym

& [Backlash 1pm

‘§.; Straightness 3um

£ |Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.28kg.



Dimensions

KYG06020TV-P28

| KYG06020TV-S38

©
p=g

lﬁ

—

[150

4-4.5THRU D8C'BORE

(Bolt hole for M4)

83.5 102
60 23.5 60 42
. %25 ) % 2%
8-M4 5DP 161776 8-M4 5DP 16 116
- 1] & [ 1] ¢ Po- 111 ¢ []]
9 & | o » gv‘e & |16 e
o § | 3 b olO Ols o)
©| P YT T
2 © ©y = 9 I
8 | b o [T ¢ *%\ S
] o
s - vl Bl \ s N
o 3 0P L J©LMJ©]) 8113 50P e R
& Comector HRIOA.-6P) g 4 d Comnector HR10A-7.-6P(73)
Connector HR10A-7P-6S(73) Connector HR10A-7P-65(73)
wn
(o o
c_1_o0
o {(®))off @ K
o 0©T©®0 oo o o N
8 ©|© ©
o 9 @ S - . ) . @ <
5 M~ T :
e o1l o LDJ &9| +° el ~
o) (150 4-4.5THRU ®8C'BORE ol 150 4-4.5THRU ©8C'BORE
(Bolt hole for M4) (Bolt hole for M4)
KYG06020TV-S40
102
60 42
25 25
8-M4 5DP 16 116
rIIEIIES
g 4 | {é T
S 4O Oly dl—)
R A (=S
o e« [ -
814 || N[ 4l
Jo{ W ol | EHE =B
o O 1\ &-Ms50p
Connector HR10A-7J-6P(73)
Connector HR10A-7P-65(73




| Motorized Stage

M /-axis Linear Ball Guide : KZG06020V

005

KZG06020TV-P28

KZG06020MV-P28

| wm | w
Motor bracket o
(installed on main body)
Coupling
(with screws) <
_[ForMotor | dofM256 [ dofmM3-12 [ 2ofma4-12

Mounting For Mai
screw or Vain -

Body 4o0f M4-10
Sensor cable O(HR10AP-S-SB-6-[)
Cable tie Ie) ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

KZG06020TV-P28- ]

n Connector specifications

E Application Motor

T Pig tail

M Panel mount

Code Specification

P28 (128 Stepping motor specification

S38 [138 Servo motor specification

S40 [140 Servo motor specifications

K] cable option

Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KZG06020TV-P28 KZG06020MV-P28
= Travel distance 20mm

< |Stage surface size 60x60mm

5- Connector type Pigtail \ Panel Mount
o |Feed screw (Ball screw) ®8 Lead 1

S |Guide Linear Ball Guide

§>_ Main materials-Finishing Special Steel—Electroless nickel plating
S \Weight 0.96kg

§ Resolution/ Full/Half 2um/1pm

g [Pulse Micro step 0.1pm(1/20 On resolution)

8 |MAX speed 20mm/sec

%z Load capacity 3kgf[29.4N]

S |Perpendicularity 10um/Full stroke

o |Limit sensor Available

% Origin sensor Available

= Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

%. Repeatability positioning accuracy +0.5um

£ |Lost motion 1ym

& [Backlash 1pm

‘é.; Straightness 3um

S |Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.00kg.



KZG06020TV-P28

23.5

25
16

60

| KZG06020TV-S38

Connector HR10A-7P-65(73

25
16

35
5.5

2 H

(2]

8 1
S|
Sl 7

50
4-4.5THRU D8C'BORE 60
(Bolt hole for M4)

42

60

25

Connector HR10A-7P-65(73)

Connector HR10A-7J-6P(73)

0
o

59 N~
©
|
Q™ ®
8
5
|
T
it 2 [
J L s |
8-M4 5DP 4-4.5THRU O8C'BORE
(Bolt hole for M4)

KZG06020TV-S40

42

Connector HR10A-7P-6S(73)

Connector HR10A-7J-6P(73)

60

35

61
4
L
[ox ==Y
bl [T
J@
[Te)
N:_E ~
? B
@
&
[]
> o L E
[{=]
5
w0
- ] o |7 o]
: ha B i
50
60
4-4.5THRU ®8C'BORE

(Bolt hole for M4)




| Motorized Stage

M XYZ-axis Linear Ball Guide : KWG06020V

007

KWG06020TV-P28

-

KWG06020MV-P28

KWG06020TV-P28-[]

m | w |
Motor bracket o
(installed on main body)
Coupling
(with screws) <

_[ForMotor | 12otM256 | 12otmM3-12 [ eofMd-12
Mounting For Mai
screw or Main -

Body 4o0f M4-10

Sensor cable O(HR10AP-S-SB-6-[1)
Cable tie o ‘ ‘

* Sensor cable: Select from 2m, 3m, 5m

n Connector specifications

T Pig tail

M Panel mount

E Application Motor
Code Specification
P28 (128 Stepping motor specification
S38 [138 Servo motor specification
S40 [140 Servo motor specifications
K] cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KWG06020TV-P28 KWG06020MV-P28
= Travel distance 20mm

% Stage surface size 60x60mm

g |Connector type Pigtail \ Panel Mount
& |Feed screw (Ball screw) ®8 Lead 1

2 |Guide Linear Ball Guide

8 [Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 2.16kg

E Resolution/ Full/Half 2um/1pm

S [Pulse Micro step 0.1um(1/20 On resolution)

% MAX speed 20mm/sec

c‘g_ Load capacity 3kgf[29.4N]

é:' Squareness 10pm/Full stroke

S |Perpendicularity 10pm/Full stroke

o |Limit sensor Available

% Origin sensor Available

= Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5um

£ |Lost motion 1pm

< |Backlash 1um

Té Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 2.28kg.



Dimensions

KWG06020TV-P28

8-M3 50P In_ 0l
el 11 o7
K3
g“’[ |4 |1+
g ‘:I 49 o of 4
o2
B <4 |19~
% ||| ¢
8-M4 50P

Connector HR10A-7P-65(73)

Connector HR10A-7J-6P(73)

55

41

178.5

108.5
Ga)

o

40
2)

5]
4%

hiS)

125

|
Il
i

10|

25 25 \—
42 60 4-4 5THRU ©8C'BORE

(Bolt hole for M4)

50
60 235
835
235 6 4-4.5THRU ®BC'BORE
835 (Bolt hole for M4)
KWG06020TV-S38
Connector HR10A-7P-6S(73)
Connector HR10A-7J-6P(73)
60
4
A [on==7
8-M3 5DP o
1ol 117 o
b He
8y i 8
8 49 9 @ ¢ @
ol
R 4 |16 ®
< ||| 4 S T
8-M4 5DP s

KWG06020TV-S40

i

8-M3 5DP A A
1o gl@f
9 4 N* &
8 1% %e o
o2
R - |19
& R
8-M4 5DP,
8
IS i -] :
mr I
wf
16| 16
25 25
42 60

4-4.5THRU ©8C'BORE

102 (Bolt hole for M4)

Connector HR10A-7P-6S(73)

4
Q>
|
-
IS
¢
]
5 1
5|
g ) .0
_qs GF_ﬁ s@
AN &
8 i I “DI
- O L -~
=+ 50
60 42




| Motorized Stage

M X-axis Linear Ball Guide : KXG0O6030V

009

KXG06030TV-P28

KXGO06030MV-P28

| wm | w
Motor bracket o
(installed on main body)
Coupling
(with screws) <
_[ForMotor | dofM256 [ dofmM3-12 [ 2ofma4-12

Mounting For Mai
screw or Vain -

Body 4o0f M4-10
Sensor cable O(HR10AP-S-SB-6-[)
Cable tie Ie) ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

KXG06030TV-P28-[ |
1] 2] 3]
n Connector specifications E Application Motor
Code Specification
P28 [7128 Stepping motor specification
S38 (1138 Servo motor specification
Pig tail $40 | [140 Servo motor specifications
E Cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
Panel mount F@ 5] Sensor cable 5m One end loose wire
Model KXG06030TV-P28 KXG06030MV-P28
= Travel distance 30mm
% Stage surface size 60x70mm
g |Connector type Pigtail \ Panel Mount
& |Feed screw (Ball screw) ®8 Lead 1
2 |Guide Linear Ball Guide
8 [Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 0.70kg
Resolution/ Full/Half 2um/1pm
Pulse Micro step 0.1um(1/20 On resolution)
MAX speed 20mm/sec
= |Uni-directional positioning accuracy 5um
§ Repeatability positioning accuracy +0.5um
& |Load capacity 10kgf [98N]
?‘: Moment stiffness Pitch 0.06/Yaw 0.05/Roll 0.05["/N « ¢m]
S |Lost motion 1um
§ Backlash 1um
S [Straightness 3um
Parallelism 15pm
Motion parallelism 10pm
Pitching/Yawing 20"/15"
o |Limit sensor Available
% Origin sensor Available
= |Slit origin sensor —

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 0.74kg.



Dimensions

9.5
KXG06030TV-P28 4-4.5THRU ®8C'BORE 70 5_235
(Bolt hole for M4) 25 25 16
< 8-M4 50P 16_16 15 4o
o © | 2
- [ =
[ Qo © j@r\ ok} ”
8 E 4 4o pm] | 3 5
1 RS ) © =
N &
¢ < ] Connector HR10A-7J-6P(73)
‘ i A ﬁ%: _
8-M3 5DP e N i i
Connector HR10A-7P-6S(73
° (® o) ® o) gl % o
=~ N
mgl L JII% — =
50 es] 5 -
o
<
<
pt
= —
<
g ©
“l 55 P5(H7) 4DP
50
KXGO06030TV-S38 4-4 5THRU OBCBORE - 117 —
(Bolt hole for M4) %5 %
5 8-M4 5DP 16116 4-M3 60P
- < |4 ES
@ -9 P~
© e
8 PR es =
) ©
3 +
o o o Nnnector HR10A-7J-6P(73)
8-M3 5DP (R ek
Connector HR10A-7P-65(73)
Lo,
%
il
@ e) @ o
el ?
N B
o 50 51| 245 3578 |y |g
E
ol Jo BN
il T T ESARSESIRSS
3 —
<
I [©)
“ 55 D5(H7) 4DP
50
KXG06030TV-S40 0
N e
0lt nole Tor
5 8-M4 5DP 16_| 16 & 4-M4 8DP
X < |4 [ B
ﬁ,‘i’ 4; % 7{/\]}
g = & b %5 =
¢ o ~
e ) =CY
g & 4$, :D
s
) x & Nﬁommm—n-epm)
8-M3 5DP VAR I
© Connector HR10A-7P-6S(73
%
@)
I b e =
- 50 51] 245 |[35 | |, |ag
B|w0|3755
S—5 N
o o : &lelele
o
o
= —
g ©
3l
55 5(H7) 4DP
50




| Motorized Stage

M XY-axis Linear Ball Guide :KYG06030V

011

KYG06030TV-P28

KYGO06030MV-P28

| wm | w
Motor bracket o
(installed on main body)
Coupling
(with screws) <
_|Formotor | 8ofM256 | sofM3-12 | dofM4-12

Mounting For Mai
screw or Vain -

Body 4o0f M4-10
Sensor cable O(HR10AP-S-SB-6-[)
Cable tie Ie) ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

KYG06030TV-P28-[]

n Connector specifications

E Application Motor

T | Pigtail

M Panel mount

Code Specification

P28 [7128 Stepping motor specification

S38 [138 Servo motor specification

S40 (140 Servo motor specifications

E Cable option

Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KYGO06030TV-P28 KYG06030MV-P28
= Travel distance 30mm

< |Stage surface size 60x70mm

5- Connector type Pigtail \ Panel Mount
o |Feed screw (Ball screw) ®8 Lead 1

S |Guide Linear Ball Guide

§>_ Main materials-Finishing Special Steel—Electroless nickel plating
S |\Weight 1.40kg

= |Resolution/ Full/Half 2um/1pm

g Pulse Micro step 0.1pm(1/20 On resolution)

8 |MAX speed 20mm/sec

= |Load capacity 9kgf[88.2N]

= Squareness 15pm/Full stroke

o |Limit sensor Available

% Origin sensor Available

= Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5um

£ |Lost motion 1pm

< |Backlash 1um

Té Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.48kg.



Dimensions

KYG06030TV-P28

98.5
75 235
5 60
25 25
8-M4 5DP
o 16,116
N < ||| & K
9 o & | {o- =
el=lg 410 ¢ ‘**¢]E;’3
)| © ©
4 |, &
8 N R *%\ s
& || & ¢
i H_m_l" -
Ja @l 8-M3 5DP ' =+
)|
o QD T I Connector HR10A-7J-6P(73
‘ ‘ Connector HR10A-7P-65(73

60

30

| KYG06030TV-S38

117
75 42
60
8-M4 5DP 25 25
- 1616
I <+ ||| ¢
UN-’ ‘2 Bl N f,@/_‘:n
12/ R|8 $40o © *H*}
© ®
Q™ s o -
- 4[4
= & || 9\ 40 ﬁ%:
i ! e
i ~ f
H H 8-M3 5DP  Connector HR10A-7J-6P(73)
o
~ Connector HR10A-7P-6S(73

(Bolt hole for M4)

50 4-4.5THRU D8C'BORE ] 0] [J50 4-4 5THRU ®8C'BORE
(Bolt hole for M4) (Bolt hole for M4)
KYGO06030TV-S40
117
75 42
60
8-M4 5DP 25 25
16,116
)
N < ||| ¢ o
0| o | {&- =
o He [0
0|99 ” & o 4,,& o
PSS 9O ©
©| ©
- Cj]
o8 Slalr
S & || N 41
=T \Lmu' [ L Y
ﬁ 8-M3 5DP - /
H H ————  Connector HR10A-7J-6P(73)
g Connector HR10A-7P-6S(73)
©
RI8
o 5o <
&
o .‘El
: =
< [ 150 4-4.5THRU D8C'BORE




| Motorized Stage

M /-axis Linear Ball Guide : KZG0O6030V

KZG06030TV-P28

KZG06030MV-P28

| wm | w
Motor bracket o
(installed on main body)
Coupling
(with screws) <
_[ForMotor | dofM256 [ dofmM3-12 [ 2ofma4-12

Mounting For Mai
screw or Vain -

Body 4o0f M4-10
Sensor cable O(HR10AP-S-SB-6-[)
Cable tie Ie) ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

KZG06030TV-P28-[]

n Connector specifications

E Application Motor

T | Pigtail

M Panel mount

Specification

P28 [7128 Stepping motor specification

S38 [138 Servo motor specification

S40 (140 Servo motor specifications

E Cable option

Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KZG06030TV-P28 KZG06030MV-P28
= Travel distance 30mm

< |Stage surface size 60x70mm

5- Connector type Pigtail \ Panel Mount
o |Feed screw (Ball screw) ®8 Lead 1

S |Guide Linear Ball Guide

§>_ Main materials-Finishing Special Steel—Electroless nickel plating
S \Weight 1.06kg

Z |DfRAE Full/Half 2um/1pm

g (/NILR) Micro step 0.1pum(1/20 On resolution)

8 |MAX speed 20mm/sec

= |Load capacity 3kgf[29.4N]

= Perpendicularity 15pm/Full stroke

o |Limit sensor Available

% Origin sensor Available

= Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5um

£ |Lost motion 1pm

< |Backlash 1um

% Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.10kg.



Dimensions

KZG06030TV-P28

Connector HR10A-7P-65(73)

Connector HR10A-7J-6P(73)

| KZGO06030TV-S38

Connector HR10A-7P-65(73

Connector HR10A-7J-6P(73)

60

55 % 5]
a1 8-M3 5DP
8-M3 5DP
=
2 In o o
Q (L @) s g
0 L o |
L - =
N i Q) & 4 ° =
Q A\ ¢
‘Lg w Y] ®
d N~
R o4 g e . =
Q7 ~ @ @
& < el . . i
/; . 5 j © .
3 o ]
5 o 5
o
mg o o . =}
[ “i hT « o 7 L,i
% Sl it
16 80 50
25 60
60 4-4.5THRU ®8C'BORE 8-M4 5DP, 4-4.5THRU ®8C'BORE
8-M4 5DP (Bolt hole for M4) (Bolt hole for M4)
KZG06030TV-S40
Connector HR10A-7P-65(73)
Connector HR10A-7J-6P(73)
61
8-M3 5DP 4
L
g A ci=]
Q) © [
0 | HJFJ;E:L\ —lé ]
o\ (| + | 7T
Q. b1 4 5
g {{o-4® "
o2 s
& p [; o
> 4 5 ;ﬂ
3 .
5
T T
ik g [ i
16 L+J
8:M4 50P| | 25— 4-45THRU QOBCBORE

(Bolt hole for M4)




| Motorized Stage

M XYZ-axis Linear Ball Guide : KWG06030V

015

KWGO06030TV-P28

KWG06030MV-P28

m | w |
Motor bracket o
(installed on main body)
Coupling
(with screws) <

_[ForMotor | 12otM256 | 12otmM3-12 [ eofMd-12
Mounting For Mai
screw or Main -

Body 4o0f M4-10

Sensor cable O(HR10AP-S-SB-6-[1)
Cable tie o ‘ ‘

* Sensor cable: Select from 2m, 3m, 5m

KWG06030TV-P28-[]

n Connector specifications

T | Pigtail

M Panel mount

2] 3]
E Application Motor
Code Specification
P28 [7128 Stepping motor specification
S38 [138 Servo motor specification
S40 (140 Servo motor specifications
E Cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KWGO06030TV-P28 KWG06030MV-P28
= Travel distance 30mm

% Stage surface size 60x70mm

g |Connector type Pigtail \ Panel Mount
& |Feed screw (Ball screw) ®8 Lead 1

2 |Guide Linear Ball Guide

8 [Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 2.46kg

E Resolution/ Full/Half 2um/1pm

S [Pulse Micro step 0.1um(1/20 On resolution)

% MAX speed 20mm/sec

c‘g_ Load capacity 3kgf[29.4N]

é:' Squareness 15um/Full stroke

S |Perpendicularity 15pm/Full stroke

o |Limit sensor Available

% Origin sensor Available

= Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5um

£ |Lost motion 1pm

< |Backlash 1um

% Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 2.58kg.



Dimensions

KWG06030TV-P28

Connector HR10A-7P-6S(73)

Connector HR10A-7J-6P(73)

55
4
8-M3 50P | Hﬂ qﬂ |
-y
‘IR
ARSI .
of 1T & 4lO Ols & 2
= o A4 =
o
o2
~ 4 | 16
B & ||| P
8-M4 5DP T os.
&|
" S
8|
16 ] 16 wof 50
2% | 2% 5 60 335
235 75 \ 4-4 5THRU O8C'BORE 485
985 (Bolt hole for M4)
KWG06030TV-S38 1
Connector HR10A-7P-65(73)
Connector HR10A-7J-6P(73)
60
3]
A A
8-M3 50P o
I -
EAEL#
gl iiRdhs
g 440 Qs
e
N 4 | 1o
o
7 <+ (|| 44 &
8-M4 5DP
&|
s 1 =
[ T I
16_|_16 of
L2 | 25
42 75 4-4.5THRU D8C'BORE
17 (Bolt hole for M4)
KWG06030TV-S40 1
Connector HR10A-7P-6S(73)
Connector HR10A-7J-6P(73)
61
4
8-M3 5P H@ H
b=y
N
o |+ [
o
S 4@ Qo
0|2
Y 4 | 16
& ||| &
8-M4 50P
8
\ %
wof
2% | 2
42 5 \4-4.5THRU ©8CBORE
117 (Bolt hole for M)




017

| Motorized Stage

Electrical Specification: KXGO6V

Electrical specification

Applicable motor code P28 \ S38 \ S40
Feature For (128 Stepping motor \ For 138 AC Servo motor \ For (140 AC Servo motor
Model KXG06020/KXG06030
Pig tail Sensor: HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Connector Panel mount Sensor: HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Receiving connector Sensor: HR10A-7P-65(73) (Hirose Electric Co., Ltd.)
Limit sensor Available
Origin sensor Available
Slit origin sensor -
S Do Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
grsoroar Power-supply voltage DC5~24V+5%
Current consumption Total 60mA or less
Control output NPN open collector output DC30V 10mA or less
Output logic On detection (light shield condition): Output transistor OFF (Non-continuity)

Pin allocation - Connection diagram

I\élg(tj%r KXG Series
[Pin allocation] [Connection diagram]
Pigtail specification : Connector model : HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Panel mount specification : Connector model : HR10A-7R-6P(73) (Hirose Electric Co., Ltd.) Sensor board
CWLS
1 [CWLS output r ORG,
2 [COWLS output -
3 |ORG output ’W
4 |N.C. vin COWLS
5 | Power input V+ [
P28 6 | Power input GND GND
RS
538 § [Cable model]
° = | Model:HR10AP-S-SB-6-[] ((is the length.)
S40 * Fixed
: Tttt ! Pin Signals
Sensor side ! ac| !
Connector: HR10A-7P-65(73) (Hirose Electric Co., Ltd) ‘ (e —— cWLS
1 LRe : 2 | CowLs
ULAWM20276 AWG28 3P Black LBk 3 ORG
AN ceyeed | L P4 NoRg
i White/ Black : 5 V+
| Wike/Red | | 6 Vo
L Shield________ !
2m :%50 mm s 3Mm jbso mm s om jf 50 mm *The shields are connected with the connector shell.
Timing chart
KXG06020
CWyYI vk CoWY3 b ABYZy b BERE RIEE FEUETEY
i - PO EOIA /] N
3. FAgit (AR
COWVSh e i)
o e it (R
KXG06030 R eniwhie)
3 [WDRPIN 3. FHH (AR
CCWYIwh CWU3 vk B (EERE)
] A -
D CWyURy b ZbhE—2d CCWUIy k
Unit[mm] Direction of CW <& P> Direction of CCW
Reference coordinate Mechanical limit ~ CW Limit Th&;}rﬁ%nc%nncggce Opposite end face CCW Limit ~ Mechanical limit
KXG06020T(M) Return to origin 11.5 10.5 0 5 10.5 11.5
KXG06030T(M) Return to origin 16.5 15.5 0 5 15.5 16.5

* Return to origin means that is performed return to origin type 4 using DS102/DS112 series.(DS102/DS112 are dedicated to 5-phase motors)
* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 mm.

Note: The timing chart shows only timing of sensor, it is not for output signal logic.
Refer to ON/OFF display of output transistor that shows on electrical specifications-sensor-output logic for output signal logic.



Applicable motor code
Sensor cable
(HR10AP-S-SB-6-[])

Sensor —@
S38 [138mm

For AC servo motor
All customers are required to prepare
DC24V power, controller and PLC by themselves.

S40 [J40mm Motor Motor cable Motor drive
Power supply

For AC servo motor
4
1 QH L.
,’ Controller PLC

P28 [128mm Stage main body
For Stepping motor

[Precautions for handling motorless products)

[important]
Unlike normal products, this is a motorless product with no drive source.
Please be sure to read and agree to the "Scope of Warranty" and "Precautions and Restrictions for Use" before purchasing.

@ Warranty range
The following items are not covered by the warranty.

- Faults and troubles related to motor mounting adjustment
« Accuracy after motor assembly by customer

* Accuracy inspection is performed on the inspection motor to confirm that it is within the standard value.

@ Precautions and restrictions on use

1. Specs: load capacity and maximum speed
Since it depends on the configuration of the main body of the motorized stage, please use it within the specifications of this product regardless of
the performance of the motor. The distance between the limit sensor and the mechanical limit is short, and an overrun may cause collision with the
mechanical limit. Please note that collisions with mechanical limits may adversely affect product accuracy and durability.

2. Torque limit
Using a high-torque motor may give a load that exceeds the product's allowable limit. If the motor torque exceeds 0.25 N « m, please apply the

torque limit.

3. Mounting the motor

Align the body, motor, and coupling before mounting.
Operation in a misalignment situation may lead to early product damage and deterioration. Please refer to the attached assembly procedure

manual and adjust the assembly.

4. Fixing the connector
There are products that require the customer to fix the connector. Before fixing, the connector part and the main body are connected only by the
lead wire, which may cause disconnection, so please handle with care.




| Motorized Stage

X-axis

Linear Ball Guide : KXLO6V-N

accessories P28 | S38 | S40
M Motor bracket o
(installed on main body)
M Motor Plate O | - | -
W Coupling (with screws) (@)
W Screws For Motor 4 of M2.5-6 4 of M3-12 2 of M4-12
For Motor Plate 2 of M4-8 - -
For Main  {30~-100mm 8 of M4-14
Body 150mm 14.of M4-14
200mm 12 of M4-14
300mm 16 of M4-14
W Sensor cable (2m One end loose) (O(HR10AP-S-SB-6-2)
Model Selection code Option code
I [ [ |
KXL06 030V-N1- P28
1]
) Pin allocation (Sensor)
Travel length Ball screw lead selection e S
030 | 30mm T [ Lead imm Uk il 0T (e
2| CCWLS output @)
050 | 50mm 2 | Lead2mm STNG.
075 75mm 4|N.C. OU:;— EIC‘iWLS
100 | 100mm 5| Power input(+) T2 (W)
150 150mm 6 | Power input(—) (Blue)
200 200mm Sensor cable (HR10AP-S-SB-6-2)
300 300mm

Application Motor

Sensor

0

Code Specification
P28 (7128 Steppingmotor Motor Motor cable Motor driver
S38 [[138 Servo motor /7 \ power
S40 (140 Servo motor R
‘ | /9 1S 1T contoler PLC

Model KXLOB030V-N1-P28|KXLOB030V-N2-P28|KXLOBO50V-N1-P28| KXLOBO50V-N2-P28| KXL06075V-N1-P28| KXL06075V-N2-P28| KXL06100V-N2-P28 [KXL06150V-N2-P28 [KXL06200V-N2-P28 | KXLOB300V-N2-P28
§ Travel length 30mm 50mm 75mm 100mm 150mm 200mm | 300mm
g Table size 60x60mm
;% gg?gws)crew Ball g lead 1 | ®Blead? | 8 lead 1 | »Blead? | 8 lead 1 | 8 lead 2 | 8 lead 2 | 8 lead 2 | 8 lead 2 | 8 lead 2
& |Guide Linear ball guide
= -
: E”if.i'Qh’iﬂEte"a'S' Stainless-Electroless nickel plating
Resalufion Ful Half 2pm/1pm 4pm/2pm 2pm/1pm 4pm/2pm 2um/1pm 4pm/2pm 4pm/2pm 4pm/2pm 4pm/2pm 4pm/2pm
(Pulse) | Microstep 01pm 02ym 01pm 02um 0pm 02ym 02ym 02um 0.2um 0.2um
(1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution)
MAX speed 30mm/sec 35mm/sec 30mm/sec 35mm/sec 30mm/sec 35mm/sec 45mm/sec
Uni-directional
positioning 5um 7um 10um 15um 15um 25um
- |accuracy
& |Repeatability
S |positioning +0.5um
£ |accuracy
8 | Load capacity 12kgf[117.6N])
%ﬁ Moment Pitch 0.05/yaw 0.05/roll 0.05["/N + cm]
§' Lost motion 1um
Backlash 1pm
Straightness 3um | 5um | 7um
Parallelism 15um
g,laorgﬁglism 10pm 10pm 15um 20um 25um
Pitching/Yawing 20"/15" 25"/20" 30"/ 20" 35"/20"
Limit sensor Installed
Origin sensor -
Slit origin sensor -
Model Photo microsensor PM-L25 (Panasonic Industrial Devices SUNX)
Power voltage DC5~24V  +10%
Consumption current| 45mA or less (15mA or less per 1 sensor)
NPN open collector output DC30V or less 50mA or less
Control output Residual voltage 2V or less when the load current is 50mA
Residual voltage 1V or less when the load current is 16mA
Output logic On detection (light shield condition): Output transistor OFF (Non-continuity)

3 SPEC is reference for the standard model



Motorized Stage

KXLO6V-N-P28 L+54.8
L 548
8-M4 5.5 DP ‘gg) %5
8-M3 5.5 DP 25_ 25
4-M36DP 65 12 ‘ G ‘
© oul
-
g ﬁ 1 3] ﬁ Efg*
| Slel Ol
ik “Plele IS i ==t
RE
=
£ =t 1 W
N-4.5 THRU 8 C'BOR
(Bolt hole for M4) 95 ‘ \_Effective Stroke Y N ‘EﬁectweStmkeY
10 ]
Mechanical Limit Z Mechanical Limit Z
2-M3 4 DP(Both side) Model L|N|A]|Pi|P2|P3|Pa|P5|Ps|P7| X Y z
3 5 DP e i Bl X B/ BBh.9 - KXLOBOBOV-NCIP28 | 120| 8 |10 |25 |50 [25 | — | — | — | — | 225 | 11 | 175
€:M3 6 DP(Both side) 1 s KXLOG0SOV-NCI-P28 | 140 8 |20 | 25|50 |25 | — | — | — | — | 325 | 21 | 275
= a
slﬁlgj ) I i Tt 1 2 KHLOGO7SV-NJ-P28 | 165| 8 |7.5|50 |50 |50 | — | — | — | —| 45 | 335 | 40
Nf T i S e O S 0 KXLOB100V-N2-P28 190| 8 | 20|50 |50 |50 | —|—|—|—| 575 | 46 | 525
ol A P1 P2 Pn A [ARY KALO6150-N2-P28 | 240] 14 [ 20 [ 50 |25 [ 25 [25 |25 |50 — [ 825 [ 71 [ 775
95 6 § KHLOG20OV-N2-P28 | 290 | 12|20 | 50 | 50 |50 | 50 |50 | — | — | 107.5 | 96 | 1025
s KHLOG300V-N2-P28 | 390| 16| 20 | 50 | 50 | 50 | 50 | 50 | 50 | 50 | 157.5 | 146 | 1525
§ 3% Ball screw lead selection [1 or 2]
KXLO6V-N-S38 L+54.8
L 54.8
8-M4 5.5 DP (75) 54
60 485
8-M3 5.5 DP 25 25
4-M36DP 6.5 12 1616
© =l
- L — — E
e i VA ==
g I O I ]
& g 521 tp‘ ry I °
pi 1 el == =
= @— ¢ - ¢
N-4.5 THRU 98 C'BORE | |
(Bolt hole for M4) ?g ‘ \_|Effective Stroke Y K ‘EffectiveSlrokeY
|
jcal Limit Z Mechanical Limit Z
2-M3 4 DP(Both side)
6-M3 6 DP(Both side) 1515 X 15 /X 151515 25 14 Model L[n]Aa]pi]r2]ps[pPa]ps]pPe|pP7] X Y z
© apr KHLOGO3OV-NC-538  [120] 8 [10 25|50 25| = [ —[—|—] 225 | 11 | 175
— KiLosos0iNT-538 [ 140] 8 [20] 25|50 25| — | =[] =] 325 | 21 | 275
gglgl | L il 2| |wuosorsin-s | 165] 8 [75]50 50 (50| — [ — | —|—| a5 | 335 | 40
=g 2 S S S S 1 = 2 2 KXLOB100V-N2-S38 190 8 [20|50 50|50 —|—|—|—| 575 | 46 | 525
<« ol A P1 P2 Pn A Eg B KXLOBT50V-N2-538 24014 |20 |50 | 25 25|25 |25 |50 | — | 825 | 71 | 775
o5 | |23 || 358 8 KHLOG20OV-N2-538 | 290 | 12|20 | 50 | 50 |50 |50 |50 | — | — | 107.5 | 96 | 1025
8 ° KHLOG300V-N2-538 | 390| 16 | 20 | 50 | 50 | 50 | 50 | 50 | 50 | 50 | 157.5 | 146 | 1525
KXLO6V-N-S40 % Ball screw lead selection [1 or 2]
L+54.8
L 54.8
¥ (75) 54
8-M4 5.5 DP 5 Tae
8-M35.5 DP 25__25
4-M36DP 6.5 12 16716
N - Is=l )
o E— — -
g T i \& ﬁﬁ 44‘
Qo - t ol
8% 8le| (o4 (O [
n ,“9'¢ EH = T
e LRl 4 ¢l =
N-4.5 THRU ¢8 C'BORI
(Bolt hole for M4) 9.5 \_[Effective Stroke Y N ‘Effectivestrokev
10

i Mechanical Limit Z

2-M3 4 DP(Both side)
6-M3 6 DP(Both side) 15 15 X 15 X 151515 25 14

Mechanical Limit Z

© _110 ‘ Model L[NTaJrir2]rs]Pa]Ps]Ps[P7] X Y z
— l_r KNL0B030-NC-s40 [ 120] 8 102550 25| — | —[—[—] 225 [ 11 | 175

%wlqj ] [} =! Q| [knosts-Tse0 [ 140] 8 [20[25] 60|25 — |~ [—|—[ 35| 21 | 275
L * e S S S S S KHLOGO7SV-NC-S40 | 165| 8 | 75|50 | 50 |50 | — | — | — | —| 45 | 335 | 40
< w] A P1 P2 Pn A :g § g KXLOG100V-N2-540 190 8 [20]50 (5050 — | —[—|—] 575 [ 46 [ 525
o5 | |3l 3 @ § KNLOB1S0VN2-540 | 240[ 14 | 20 | 50 |25 |25 | 25|25 |50 | — | 825 [ 71 | 775

2 KNLOG200VN2-540 [ 290 12 [ 20 | 50 [ 50 [50 [ 50 [50 [ — [ —[107.5 [ 96 | 1025

KNLOB30OV-N2-540  [390] 16 [ 20 [ 50 [ 50 [ 50 [ 50 | 50 [ 50 [ 50 | 157.5 | 146 | 1525

3% Ball screw lead selection [1 or 2]

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range

In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.
- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using

1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.

4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.

@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




215-7

| Motorized Stage

X-axis

Linear Ball Guide : KXLO6V-C

accessories P28 | S38 | S40
M Motor bracket o
(installed on main body)
M Motor Plate O | - | -
M Coupling (with screws) O
WScrews | For Motor 4 of M2.5-6 4 0f M3-12 2 of M4-12
For Motor Plate 2 of M4-8 - -
For Main  |30~100mm 8 of M4-14
Body 150mm 14.of M4-14
200mm 12 of M4-14
300mm 16 of M4-14
W Sensor cable (2m One end loose) (O(HR10AP-S-SB-6-2)
Model Selection code Option code
[ 11 [ ]
KXL06 030V-C1- P28
1]
) Pin allocation (Sensor)
Travel length Ball screw lead selection e S
030 | 30mm T [ Lead imm Uk il 0T (e
2| CCWLS output @)
050 | 50mm 2 | Lead2mm STNG.
075 75mm 4|N.C. ou:T EIC‘iWLS
100 | 100mm 5| Power input(+) T2 (W)
150 150mm 6 | Power input(—) (Blue)
200 200mm Sensor cable (HR10AP-S-SB-6-2)
mm—
300 300mm
Sensor —
Application Motor
Code Specifi cation
P28 (128 Steppingmotor Motor Motor cable Motor driver
S38 [[138 Servo motor /7 \ power
S40 [_]40 Servo motor &
| | , ' . Controller PLC

Model KXL0BO30V-C1-P28 | KXLOBO30V-C2-P28 | KXLOBOS0V-C1-P28 | KXLOBOS0V-C2-P28 | KXL0BO75V-C1-P28 | KXL0BO75V-C2-P28 | KXLOBTO00V-C2-P28 [KXLOB1T50V-C2-P28 |KXL06200V-C2-P28 | KXLOB30OV-C2-P28
= |Travel length 30mm 50mm 75mm 100mm 150mm 200mm 300mm
= [Table size 60x60mm
% gg?gws)crew Ball g lead 1 | »8 lead 2 | 8 lead 1 | 8 lead 2 | 8 lead 1 | 8 lead 2 | 8 lead 2 | 8 lead 2 | 8 lead 2 | 8 lead 2
S [Guide Linear ball guide
%’- Mﬁilghriﬁgte”als' Stainless-Electroless nickel plating
Resolton Elglllf/ 2um/1um 4pm/2um 2um/1um 4um/2um 2um/1ym 4um/2um 4um/2um 4um/2um 4um/2um 4um/2um
(Pulse) Microstep 0.1um 0.im 0.0pm 0.im 0.0ym 0.2im 0.2um 0.2um 0.2um 0.2um
(1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution) | (1/200n resolution)
MAX speed 30mm/sec 35mm/sec 30mm/sec 35mm/sec 30mm/sec 35mm/sec 45mm/sec
Uni-directional
positioning 5um 7um 10pm 15um 15um 25um
= |accuracy
2 |Repeatability
2 [positioning +0.5um
5, |accuracy
'8 | Load capacity 12kgf[117.6N]
g Moment Pitch 0.05/yaw 0.05/roll 0.05 ["/N - cm]
S [Lost motion 1um
Backlash 1pm
Straightness 3um [ 5um [ 7um
Parallelism 15um
pMa?'gﬁglism 10pm 10pm 15pm 20pm 25um
Pitching/Yawing 20"/15" 25"/20" 30"/20" 35"/20"
Limit sensor Installed
Origin sensor -
Slit origin sensor -
Model Photo microsensor PM-L25 (Panasonic Industrial Devices SUNX)
Power voltage DC5~24V  +10%
Consumptioncurrent 45mA or less (15mA or less per 1 sensor)
NPN open collector output DC30V or less 50mA or less
Control output Residual voltage 2V or less when the load current is 50mA
Residual voltage 1V or less when the load current is 16mA
Output logic On detection (light shield condition): Output transistor OFF (Non-continuity)

3% SPEC is refere

nce for the standard model



Motorized Stage

KXLO6V-C-P28 L+59.8
5 L 54.8
(75) 48.5
60 46
10-M4 5.5 DP % 25
- 34
11
o
B x i = 1 — ] 2
Pii 1l ok
8 gz | || ||
5 @ o!! 1 o n E— gl
N-4.5 THRU 8 C'BORE - @ 0] @ =
(Bolt hole for M4) 95 ‘ | Effective Stroke Y | Effective Stroke Y -
10 Limit Z ical Limit Z 4-03
2-M3 4 DP(Both side)
) 15 15 X _15 X _151515 31 Model L |[N|A|PLIP2|P3|P4|P5|P6|PT| X Y z
6-MS3 6 DP(Both side) ”TLOT ‘ | |KXLOG030V-CT-P28 [120] 8 [10[25[50 (25| — | = |— | —| 225 | 11 | 175
= i — KXL060SOV-C[-P28 |140| 8 |20|25|50 25| — | —|—|—|325] 21 | 2715
mlgl | ‘ N Ll : S==5 Q| |KXL0GOT5V-CC-P28 |165| 8 |7.5/50 |50 (50| — | — | —|—| 45 [335] 40
! L2 S S S S — KXLOGL00V-C2-P28_|190] 8 | 2050|5050 — | — | — | — | 57.5 | 46 | 525
wl A P1 P2 Pn A 8|85 |l [Ku06150v-C2-p28 [240]14 |20 (502525 |25[25[50 | — [ 825 [ 71 [ 775
95 s 2| 8§ KXL06200v-C2-P28 [290] 12 [20|50[50[50]50 |50 | — [ — | 107.5| 96 [102.5
128 8 KXL06300V-C2-P28  |390| 16 |20 | 50 | 50 | 50 | 50| 50 | 50 | 50 | 157.5 | 146 | 152.5
3 Ball screw lead selection [1 or 2]
KXLO6V-C-S38 14598
5 L 54.8
(75 54
60 485
10-M4 5.5 DP % 25
H 1T ; #i
L % 59 G B
P I o
siee] ||| |
bl i a
2 B % o9l G
\_| Effective Stroke Y Effective Stroke Y
Mechanical Limit Z Mechanical Limit Z
2-M3 4 DP(Both side)
6-M36DP@othside) 1515 x 15 /x 151515 25 14 Model L |N|A|PL|P2|P3|P4|P5|P6|PT| X Y z
o _l10 ‘ ‘ KXL06030v-C-s38 [120] 8 10]25[50 25[ [ —[—=[—-]225] 11 [ 175
= ; KXL060SOV-C[-538 |140| 8 |20|25|50 25| — | —|—|—|325] 21 | 2715
ggl | ‘ I [} e KXL06075V-C-538 |165] 8 |7.5]50]50]50 | — | — | —|—] 45 | 335] 40
1 R SN S S S 7 KXL06100v-C2-538 [190] 8 [20|50[50[50 | —| —|—[—] 575 | 46 | 525
o @l o, Pl P2 Pn A EE KXL06150V-C2-538  |240| 14 |20 |50 | 25|25]25[ 25|50 | — | 825 | 71 | 77.5
95| | 23|35 & 8 KXL06200V-C2-538  |290| 12|20 |50 | 50 |50 |50 |50 | — | — | 107.5| 96 |102.5
gl © KXL06300V-C2-538  |390| 16 | 20 | 50|50 | 50 | 50 | 50 |50 |50 | 157.5| 146 |152.5
% Ball screw lead selection [1 or 2]
KXL06V-C-S40 L+59.8
5 L 54.8
(75) 54
10-M4 5.5 DP .60 | 485
25__25
34
© ©
T |
i %% & g0 T F—
[} [}
gz | || I
o\ I [ o
‘ % 44 ‘
(Bolt hole for NI4) 9.5 Effective Stroke Y ‘ Effective Stroke Y
10 Mechanical Limit Z Mechanical Limit Z

2-M3 4 DP(Both side)

6M360mehs'de) 115 X }g X 151515, 2 ‘” Model L[N[A[ri[r2[P3[PalP5[Pe]PT] X | Y | z
I ‘ KXLOG030V-CL-540 |120| 8 |10|25[50|25| — | — | — | — | 225 | 11 | 175

m’ T——+4 = Z | [roososov-cséo [140] 8 2025 |50 |25 — [~ |~ ~| 325 | 21 [ 275

8|9 g KXL0GOTSV-CL-540 | 165 8 |7.5/50 50 |50 | — | — | — | — | 45 | 335 | 40

‘1 F¥ T FF I+ 7 R— KXLOGL00V-C2-540 |190| 8 |20 |50 50|50 | — | — | — | — | 575 | 46 | 525

< el P1 P2 Pn A 5% KXLOG150V-C2-540 | 240 142050 | 25|25 | 25|25 |50 | — | 825 | 71 | 77.5

o5 | |235)| 38 8 KXL06200V-C2-540 | 290 1220|5050 |50 | 50|50 | — | — | 107.5] 96 |102.5

8 KXLOG300V-C2-540 |390| 16|20 | 50 | 5050 | 50 | 50 |50 | 50| 157.5 | 146 | 1525

3 Ball screw lead selection [1 or 2]

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range

In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.
- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using

1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.

4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.

@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




| Motorized Stage

X-axis Cross Roller Guide

:KXC04015V

M Motor bracket o
(installed on main body)
M Coupling (with screws) (@)
MScrews | For Motor |KXC04015V 2 0f M2.5-6
4 of M3-12 2 of M4-12
KXC06020V 2 of M2.5-5
For Main  |KXC04015V 4 of M3-16
Body  [kxcos020v 4 0f M4-16
M Sensor cable
(2m One end loose) O(HR10AP-5-58-6-2)
W Hex wrench (for motor mounting) O - -
Model Option code
I [ |
KXC04015V-P28
Pin allocation (Sensor) Sensor subetiare
Application Motor F
Code Specifi cation 1 CTiLs Gz e
2| CCWLS output -
P28 (128 Steppingmotor 3| ORG outputioren) ‘Biiﬁ'ii!ﬁf
§38 | [138 Servo motor 4[N.C. ﬂ || cewis
$40 | (1140 Servo motor 5| Power input(+) ,—LGND | =
6 | Power input(=) ==

Sensor cable (HR10AP-S-SB-6-2)

19

Sensor

Please provided by the customer.

Motor Motor cable

#{9

Motor driver
).
, ' Controller PLC

power

Model KXC04015V-P28 KXC04015V-S38 KXC04015V-S40
= |[Travel length 15mm
£ [Table size 40x40mm
2 Feed screw (Ball screw) @6 lead 1
% Guide Crossed roller guide
%’- Main materials-Finishing Aluminum —Black almite finishing
Resolution Full/Half 2um/1um
(Pulse) Microstep 0.1pm (1/20 on resolution)
MAX speed 10mm/sec
= |Uni-directional positioning accuracy 10pm
g Repeatability positioning accuracy +0.2um
& |Load capacity 5.0kgf [49N]
c%; Moment stiffness Pitch 0.33/yaw 0.44/roll 0.37 [ "/N + cm]
S [Lost motion 1um
8 [Backlash 0.5um
S Straightness 3um
Parallelism 30um
Motion parallelism 10pm
Pitching/Yawing 25"/20"

SENSOR

Limit sensor

Installed

Origin sensor

Installed

Slit origin sensor

Model

Photo microsensor EE-SX4320 (Omron Co., Ltd.)

Power voltage

DC5~24V  x10%

Consumption current

Total 60mA or less

Control output

NPN open collector output DC5~24V 8mA or less
Residual voltage 0.3V or less when the load current is 2mA

Output logic

0On detection (light shield condition): Output transistor OFF (Non-continuity)

3 SPEC is reference for the standard model



Motorized Stage

KXC04015V-P28 705
8-M34DP 35 40 11__ 16 15
1 1 1% 11.5|11.5
4-35THRU 6 C'BORE | 2-03
(Bolt hole for M3) "= e & 9 g_
© | ol
e g HHY 4 8 =
e — =
¢ e i}
®4(H7) 4 DP /)
®4 from the opossite  (H7) 5 DP ,:[:I:I]]]:ID
//
o _of@e B
8l ML L] 58 ®
R = °©
i i
L 32 | |38 -
KXC04015V-S38 85
8-M34DP 35 40 11 305 & 15
4-35THRU ¢6 C'BORE ,_11 16 16 '0,7 ?*—" 4-M3
(Bolt hole for M3) _ - O
: B A o
© i ¥ / &
I =) Hld ) L |
o« = H *# el T T
e | =\ /
o o\ o
D4(H7) 4 DP 7 @M
®4 from the opossite (H7) 5 DP
<«
of®\e
3 = i | ‘J — =g/
® D77 i°
< 32 57 273
KXC04015V-S40 85
8-M34DP 35 40 11 305
) 16 16
4-35THRU 6 C'BORE O
(Bolt hole for M3) — —
B 5 3 .
© N /]
e - |
8 2| +He - 2 +
© 4 | — %\\\
& o\ &

d4(H7) 4 DP
®4 from the opossite  (H7) 5 DP

w0
of®\o
sl | ===
N I(® @i
iy lZ7,
o 32 57 27138

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range

In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.
- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using

1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.

4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.
@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




| Motorized Stage

X-axis Cross Roller Guide : KXC06020V

W Motor bracket (installed on main body) (@)
W Coupling (with screws) (@)
M Screws For Motor  |KXC04015V 2 of M2.5-6
4 of M3-12 2 of M4-12
KXC06020V 2 of M2.5-5

For Main  |KXC04015V 4 of M3-16

Body KXC06020V 4.0f M4-16
M Sensor cable(2m One end loose) O(HR10AP-S-SB-6-2)
W Hex wrench (for motor mounting) O - -

Model

Option code

KXC06020V -P28

Application Motor

Code Specification
P28 [1]28 Steppingmotor
S38 [[138 Servo motor

S40 [1140 Servo motor

Sensor substrate

Pin allocation (Sensor)

cwLS

Fonm

1|CWLS output

2| COWLS output o

3| ORG outputors ’?‘5‘5{
4|N.C. {V'" [ egiis
5 | Power input(+) | L

6 Power input(—) HeND |

Stage main body Sensor cable (HR10AP-S-SB-6-2)

Sensor — @

Please provided by the customer.

Motor Motor cable

#{9

Motor driver
).
, ' Controller PLC

power

Model KXC06020V-P28 KXC06020V-S38 KXC06020V-S40
& |Travel length 20mm
S. |Table size 60x60mm
2 Feed screw (Ball screw) $8 lead 1
% Guide Crossed roller guide
%’- Main materials-Finishing Aluminum —Black almite finishing
Resolution Full/Half 2um/1pm
(Pulse) Microstep 0.1um (1/20 on resolution)
MAX speed 20mm/sec
= |Uni-directional positioning accuracy 5um
E Repeatability positioning accuracy +0.2um
§ Load capacity 5.0kgf[49N]
-(-‘: Moment stiffness Pitch 0.15/yaw 0.12/roll 0.07 [ "/N « cm]
S |Lost motion 1um
§_ Backlash 0.5pum
S [Straightness 3um
Parallelism 30um
Motion parallelism 10pm
Pitching/Yawing 20"/15"

SENSOR

Limit sensor

Installed

Origin sensor

Installed

Slit origin sensor

Model

Photo microsensor EE-SX4320 (Omron Co., Ltd.)

Power voltage

DC5~24V  +10%

Consumption current

Total 60mA or less

Control output

NPN open collector output DC5~24V 8mA or less
Residual voltage 0.3V or less when the load current is 2mA

Output logic

0n detection (light shield condition): Output transistor OFF (Non-continuity)

3 SPEC is reference for the standard model



Motorized Stage

KXC06020V-P28 81
60 21
4-45THRU 8 C'BORE 8-M4 5 DP 25 % 2 55
(Bolt hole for M4) ™\ 32 ‘ 17 M2.6
= Y < | %} - 3
o T 4+ | = N\
N o
@ —
8 8 o s &
- ‘
S g M26 /
e 2 AT
D4(H7) 4 DP 4-M3 5 DP 7/
4 from the opossite (H7) 5 DP
[r=,
|___If
o)
8 e e
=i e e !
A A
50 6l76/85] -2 o
]
5
3
KXC06020V-S38 95
60 35
% %
' e 17
4-45THRU OB CBORE ,_12 8-M4 5 DP 32 e, 4M38DP
(Bolt hole for M4) % .
R ©- o) =
g 71 * T é 8
o | H / S
: 2| +-fo " . 4 y
j
P M | 5 \ ;
o ¢ K L T
& X
o /o \9
®4 (H7) 4 P 4-M35 0P / iCD]IDD
4 rom the opossite (+7) 5 DP 7
©
[r=22.
o 1/ of® ®)o =
] ] BE
alii ii’?
~ 50 olre| 19 |35
3
KXC06020V-S40 95
60 35
25 %
8-M4 5 DP
4-45THRU &8 C'BORE 32 4-M48DP
(Bolt hole for M4)
¢ (0] {}] =4
9 o ] 3
g >—<'— \
. g (o ® : L
1 1
& " =
| — L
- A
f o [o No
®4 (H7) 4 DP 4-M3 5 P
@4 from the opossite (H7) 5 DP
~
=
- @9 -
® b e
o Mo ol T
: :[ ]: W,
- 50 6)76] 195 || 3
p=3

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range
In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.
- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using
1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.
2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.
4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.

@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




| Motorized Stage

Horizontal Z-axis Cross Roller Guide : KHC06004V

I I

M Motor bracket o
(installed on main body)
M Coupling (with screws) O
WScrews | For Motor dofM256 | 4otM312 | 2o0fMa-12
For Main Body 4 of M4-12
M Sensor cable
(2m One end loose) O(HR10AP-5-58-6-2)
MHex wrench o ]
(for motor mounting)
Model Option code
I [l |
KHC06004V - P28
Pin allocation (Sensor) Sensor S“bS';EV‘V‘LZ
Application Motor T
S— 1[CWLS output orel
Code Spemﬂ cation 2 CCWLS output -
P28 [7128 Steppingmotor 3| ORG outputiorsn Fr‘s_gl"f’i’{
S38 (1138 Servo motor 4[N.C. ﬂ n I| cewis
$40 | (140 Servo motor 5 | Power input(+) EGND [
6 Power input(—) L=

Sensor cable (HR10AP-S-SB-6-2)

Sensor — @

Please provided by the customer.

Motor Motor cable Motor driver

power

s il U
| , ' - Controller PLC

Model KHC06004V-P28 KHC06004V-S38 KHC06004V-S40
& |Travel length 4mm

£ [Table size 60x60mm

= |Feed screw Ball screw ¢8 lead 1

% Guide Wedge type Crossed roller guide

Main materials-Finishing

Aluminum —Black almite finishing

Resolution (Pulse)

0.5um (Full) /0.25pm (Half)

g MAX speed 2.5mm/sec
s Uni-directional positioning accuracy 7um
E Repeatability positioning accuracy +0.5ym
@ [Load capacity 7kgf [68.6N]
E’: Moment stiffness Pitch 0.2/yaw 0.04/roll 0.14[ "/N « cm]
g [Lost motion 1um
Parallelism 50um

SENSOR

Limit sensor

Installed

Origin sensor

Installed

Slit origin sensor

Model

Photo microsensor EE-SX4320 (Omron Co., Ltd.)

Power voltage

DC5~24V  +10%

Consumption current

Total 60mA or less

Control output

NPN open collector output DC5~24V 8mA or less
Residual voltage 0.3V or less when the load current is 2mA

Output logic

0On detection (light shield condition): Output transistor OFF (Non-continuity)

m % SPEC is reference for the standard model



Motorized Stage

30

KHCOB004V-P28 1473
88 42 17.3
5 25 25 25
14 32
5 o & RS & m: Q)
@ ® @40 O 5 =%
b,

R

50
63
60
5

@
=k
14.7 97T111 9.7

o
& 4 g & Vo
" Wi @%® ® o T 8 OF 1)
e K & - < -] |
11-M4 6 DP ™\ _4-M3 6 DP 35 4-3THRU from the opossite ®5 CBORE/ 9.7 |11.19.7 | | 47
o
+
<
al
2 50 5.5‘ ws|7] f|gl 2
4-45THRU 68 C'BOR g
(Bolt hole for M4) 5
KHC06004V-S38 147.3
88 56 3.3
25 25 25
14 32 &
© 0 2 4-M3 8 DP
— = L &
ol © © | o & ﬂL
@ ® 904 © |5 | s
@ s
8
8 3|33l oS e %}
2 &
@ @ <+ O 2 L)
Eny— Q & o o
11-M4 6 DP\_4-M3 6 DP
o ZZ
0 o,
© EJ
0 o [
o Il
4-4.5THRU $8 C'BORE 50 55 27.5 4 -
(Bolt hole for M4)
KHC06004V-S40 147.3
88 56 33
5 25 25 %
14 32
o 4-M4 8 DP
= I il
= © ©- ©- ©- HL
© © 4 © |
8
2 3l3/8(s 6 & o Fr
&
N N{ @ %0 © | |
EEtE=| § b &
11-M4 6 DP\_4-M3 6 DP
N 0 o,
+ Q) g
e o 1
o~ il o
olor] 7
4-4.5THRU 08 C'BORE 50 55 275 s+ 3
(Bolt hole for M4) |
3
©

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range
In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.
- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using
1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.
4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.

@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




| Motorized Stage

Ball Screw Type Sinemotion Goniometer Stages[ 160 : KGBO6V

w1 w ] w

M Motor bracket o

(installed on main body)

M Coupling (with screws) O

WScrews | For Motor 40iM256 | 4ofM3-12 [ 20iMa-12
For Main Body 4 of M4-10

M Sensor cable

(2m One end loose)

(O(HR10AP-S-SB-6-2)

Model Selection code

Option code

KGB06 050V-L - P28

Height of center rotation (W.D)

Sensor cover location

Pin allocation (Sensor)

Application Motor

050 | 50mm L | Lposition
075 | 75mm R__| Opposite hand
100 100mm

125 125mm

Code Specifi cation

P28 []28 Steppingmotor

S38 [[]38 Servo motor

S40 [_]40 Servo motor

Sensor

CWLS output

Sensor substrate

oWLS

’— ORGI..

CCWLS output

-

ORG outputore1)
N.C.

Regulator
gulat CCWLS,

Power input(+)

Vin Vout

og|hwn|—~

Power input(-=)

Sensor cable (HR10AP-S-SB-6-2)

GND

Ne!

Motor

"_

Please provided by the customer.

Motor cable Motor driver

/Q H
sy 4=

power

Controller PLC

S PEC

Model KGB06050V-L-P28 KGB06075V-L-P28 KGB06100V-L-P28 KGB06125V-L-P28
& |[Travel length +8.5° +5.5° +5° *4°

§ Table size 60x60mm

= |Travel mechanism Ball screw ¢6 lead 1

% Guide Crossed roller guide

%’- Main materials-Finishing Aluminum — Black almite finishing

= [Height of stage 25+0.2mm

= |Height of center rotation 50=0.2mm | 75:0.2mm | 100£0.2mm | 125:£0.2mm
S |Runout accuracy of center rotation 0.01lmm

& |Resolution (Pulse) =0.0021° =0.0014° =0.0011° =0.0009°

§ MAX speed 31.5°/sec [15kHz] 21°/sec [15kHz] 16.5°/sec [15kHz] 13.5°/sec [15kHz]
= |Repeatability positioning accuracy +0.001°

-‘3 Load capacity 5kgf[49N]

§ Moment stiffness Pitch 0.30/yaw 0.10/roll 0.11["/N « cm]

S |Lost motion 0.003°

SENSOR

Limit sensor

Installed

Origin sensor

Installed

Slit origin sensor

Model

Photo microsensor EE-SX4320 (Omron Co., Ltd.)

Power voltage

DC5~24V  +10%

Consumption current

Total 60mA or less

Control output

NPN open collector output DC5~24V 8mA or less
Residual voltage 0.3V or less when the load current is 2mA

Output logic

On detection (light shield condition): Output transistor OFF (Non-continuity)

3 SPEC is reference for the standard model




KGBO6V-P28

128.9 Center of rotation Center of rotation
5 104 60 34.5 24
gg 3 Scale 1° vernier 0.1° 2 Scale 1° vernier 0.1°
— g g =
4-45THRU 8 C'BORE = I gl L QW h 9 . I
(Bolt hole for M4) A > 5
- 4 + = i3 ©# w[® 50 w|? 50
8 BEEER = g D —1°
| & — *Eia=
’*’f =2 = Center of rotation Center of rotation
4-M4 6 DP/ 35 e M 4-03
4-M3 6 DP b 23 25 s I
g g - - Scale 0.5° vernier 0.05° - Scale 0.5° vernier 0.05°
&
o °
9
KGB06V-S38
128.9
104 60 475 1" Center of rotation Center of rotation
5 gg Scale 1° vernier 0.1° Scale 1° vernier 0.1°
) . 0
4-4.5THRU 8 C'BORE, 7 B ~ wt
(Bolt hole for M4) & O g O i
.H \‘». \ L ] {ﬁ* % A ! N { % B ' N
I 4 <+ I Y < 29) I il s O o)
©
(=3 ~lo|ole —
23 @B ol o 50 olo 50
- + 2 e
?f R
4-M4 6 DP 1:1 Center of rotation Center of rotation
4-M36DP ]
Scale 0.5° vernier 0.05° Scale 0.5° vernier 0.05°
0 s & mt
L) o LA— O 1 i s
'e} Va4
9 i ’ﬁjE ;W. [ o] oo
ol 50 ol 50
KGB06V-S40
1289 Center of rotation
104 60 47.5 " Center of rotation
50 Scale 1° vernier 0.1° Scale 1° vernier 0.1°
o 32 //:C[]ﬂ[[] 2 ﬂ 0
L — s < ; 7 -
T B ] o &
A S 0
0 + i ]
~lol ol — =}
3| 3|8 <
L+ e 50 o 50
hvia -4
4:-M4 6 DP e Center of rotation Center of rotation
4-M3 6 DP
Scale 0.5° vernier 0.05° Scale 0.5° vernier 0.05°
5 w
2 ﬂ s
& e & 0
o Ll
=le 50 =lo 50

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range

In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.
- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using

1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.

4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.
@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




| Motorized Stage

M Goniometer Stagel 140:KGWO04V (1-axis)

KGWO04040TV-LP28

KGWO04040TV-RP28

Accessory P28 S38 S40
Motor bracket 0]
installed on main body)
Coupling
(with screws) o

_[Formotor | 20fM256 [ dofmM3-12 [ 2ofma-12
Mounting For ai
screw or Main ]

Body 40f M3-6

Sensor cable O(HR10AP-S-SB-6-[1)

* Sensor cable: Select from 2m, 3m, 5m

KGW04 040 TV-L P28- ]

n Height of center rotation (W.D.)

E Sensor cover location specification

040 | 40mm

L | Lposition

060 | 60mm

R | Opposite hand

H connector specifications

n Application Motor

T Pig tail

Code Specification

P28 (128 Stepping motor specification
S38 [[138 Servo motor specification
S40 (140 Servo motor specifications

E Cable option

M Panel mount

Code Specification

Blank | Sensor cable 2m One end loose wire
B Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model

SPEC

KGWO04060TV-LP28 KGWO04060MV-LP28

KGW04040TV-LP28 KGW04040MV-LP28

(Opposite hand)

KGWO04040TV-RP28 KGWO04060TV-RP28 KGW04040MV-RP28 KGW04060MV-RP28

Origin sensor

10SUAS

Travel distance +8° +6° +8° +6°
., _ |Stage surface size 40x40mm
'c'g ? Connector type Pigtail Panel Mount
5“3 § Travel mechanism (Reduction ratio) Worm gear(1/240)
5 g |Guide Cross Roller Guide
= [Main materials-Finishing Aluminum - Black alumite finishing,Phosphor bronze - Black paint

Weight 0.28kg 0.27kg
= £ Hight of stage 20+0.2mm
S 2 |Height of center rotation 4020.2mm \ 60=0.2mm \ 400.2mm \ 600.2mm
8 2 [Runout accuracy of center rotation 0.01mm

Resolution/Pulse 0.003°(Full)
?‘: = MAX speed 15°/sec[5kHz]
= § Repeatability positioning accuracy +0.005°
8 5 |Load capacity 3kgf[29.4N]
S~ |Moment stiffness Pitch 1.30/Yaw 1.16/Roll 0.27["/N + cm]

Lost motion 0.01°

Limit sensor Available

Available

Slit origin sensor

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 0.32kg for the pigtail specification and 0.31kg for the panel mount specification.



KGWO04-TV-LP28 Series

112.8 Connector HR1A-10P-12S(HRS)

35 28 Connector HR10A-10J-12P(HRS)

M

32

M =
, U—” O(}
O\ © B, o “'

4(H7) 4DP ©
®4from the opossite (H7) 3DP

Center of rotation o
Q Scale 1° vernier 0.1° ©
[te) )
N | —
[ 3] —‘J ° 4= 7 J °
S olE Vo3 o 17 )
8 S [Hrhbat= 1 S e = © 1
% o 32 ©
<
KGW04040TV-LP28 KGW04060TV-LP28
KGWO04-TV-LS38 Series
4-35THRU 96 C'BORE Connector HR1A-10P-12S(HRS)
112.8

48 15 | Connector HR10A-10J-12P(HRS)

= |

@
gl
9 0 ® p‘ H
o 2 t= #
jo]
.4,@\ ® o2 L N
®4(H7) 4DP F
®4from the opossite (H7) 3DP
1 "\_Center of rotation 3 Center of rotation
= Scale 1° vernier 0.1° Scale 1° vernier 0.1°
.
2 e
Fo= & fom —&
[oo) (o] IR u ° o Ll " °
8 S {Hhawkar— ° ? gr{%w«ww%i
P g ! 32 0 32
85 & |88 0| ~
8l § KGWO04040TV-LS38 KGW04060TV-LS38
T
N
N
©
KGWO04-TV-LS40 Series
4-3.5 THRU 6 C'BORE 1128 Connector HR1A-10P-12S(HRS)
40 ] 48 15 | Connector HR10A-10J-12P(HRS)
32 T
—20 _ /—\LM o
® (1
§ @ p'hH
8 «—HH g
(@]
i ;
D4(H7) 4DP
®4from the opossite (H7) 3DP
Center of rotation g Center of rotation
53 Scale 1° vernier 0.1° Scale 1° vernier 0.1°
o < ] o j*'
S Ner ~ Z”f%k»&
0 O 32
82 57|88 0 ~
= § KGWO04040TV-LS40 KGW04060TV-LS40
N
N
©




| Motorized Stage

M Goniometer Stagel 140: KAWO04V (2-axis)

021

KAWO04040TV-LP28

KAWO04040TV-RP28

m | w | s
Motor bracket
i on main body) o
Coupling
(with screws) o

_|Formotor | dofM256 [ sofM3-12 | dofma-12
Mounting For liai
screw or Main g

Body 40f M3-6

Sensor cable O(HR10AP-S-SB-6-[])

* Sensor cable: Select from 2m, 3m,

KAWO04 040 TV-L P28-[]

5m

[H Height of center rotation (W.D.)

[E sensor cover location specification

040 | 40mm

L [ Lposition

E Connector specifications

T Pig tail

M Panel mount

R | Opposite hand

n Application Motor

Code Specification

P28 [7128 Stepping motor specification
S38 [138 Servo motor specification
S40 (140 Servo motor specifications

H cable option

Specification
Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KAW04040TV-LP28 KAW04040MV-LP28
(Opposite hand) KAW04040TV-RP28 KAW04040MV-RP28
Travel distance Upper/Lower axis +8°/+6°
., _ |Stage surface size 40x40mm
3 § Connector type Pigtail Panel Mount
E’i § Travel mechanism (Reduction ratio) Worm gear(1/240)
g 8 |Guide Cross Roller Guide
=~ |Main materials-Finishing Aluminum - Black alumite finishing,Phosphor bronze - Black paint
Weight 0.56kg 0.54kg
= 5 Hight of stage 40+0.4mm
S 2 Height of center rotation 40+0.4mm
8 § Runout accuracy of center rotation —
= |Resolution/Pulse 0.003°(Full)
2 Upper 15°/sec[5kHz]
g [MAXspeed Lower 15°/sec(5kHz]
§ Repeatability positioning accuracy +0.005°
S |Load capacity 2.5kgf[24.5N]
E.’_ Moment stiffness Pitch 1.57/Yaw 2.32/Roll 1.57["/N « c¢m]
S [Lost motion 0.01°
o |Limit sensor Available
% Origin sensor Available
= |Slit origin sensor —

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 0.64kg for the pigtail specification and 0.62kg for the panel mount specification.



Dimensions

KAWO04040TV-LP28

112.8

| KAW04040TV-LS38

105

R m
Lo
132 4-3,5THRU O6C'BORE

(Bolt hole for M3)

112.8
0.8 40 35 28 98 40 48 15
32 32
=20 _ ] =20 _ ]
& =5 ( 2 Rt [
o) Bta Connector HR10A-10J-12P(HRS) A% 4@*@ T | Connector HR10A-10J-12P(HRS)
® | |-
Q %gl Eﬂ ® ol I Connector HR10A-10P-12SHRS) 2 ggl e ol b Connector HR10A-10P-12S(HRS)
et ® ] et ® ]
£ L
2 famzaDpT 4-M3 4DP 2| famz40p/T 4-M3 4DP
o = ®4 (H7) 4DP ®4 (H7) 4DP
@) ®4 from the opossite (H7) 3DP @ ®4 from the opossite (H7) 3DP
|
N
= Center of rotation Center of rotation
s
I
=
j—y -
S , i : Q 3 5 B
NS FA A ol
& W]
o T+ 8 §
© (132 _| \4-35THRU ®6C'BORE 032 4-3.5THRU G6C'BORE
~ (Bolt hole for M3) (Bolt hole for M3)
KAWO04040TV-LS40
112.8
98 40 48 15
32
20 H
e [RE==t [
Fe. L] | | Connector HR10A-10J-12P(HRS)
o I
S 8] Eﬂ ® ol I Connector HR10A-10P-12S(HRS)
et o [
© 4 L
—| 14-M24DP 4-M3 4DP
& ®4(H7) 4DP
@ ‘ — ®4 from the opossite (H7) 3DP
Yo}
? Center of rotation




M Goniometer Stagel 160: KGWO0BV (1-axis)

KGWO06050TV-LP28

023

| Motorized Stage

KGWO06050TV-RP28

KGWO06050 TV-L P28-[]

Accessory P8 | s | s
Motor bracket 0]
installed on main body)
Coupling
(with screws) o

_[Formotor | dofM256 [ dofmM3-12 [ 2ofma-12
Mounting For ai
screw or Main R

Body 4of M4-10

Sensor cable O(HR10AP-S-SB-6-[1)

* Sensor cable: Select from 2m, 3m, 5m

n Height of center rotation (W.D.)

E Sensor cover location specification

050 | 50mm L [ Lposition
075 | 75mm R | Opposite hand
100 100mm . .
125 125mm n Application Motor
Code Specification
H connector specifications P28 | [J28 Stepping motor specification
S38 [[138 Servo motor specification
S40 (140 Servo motor specifications
T Pig tail E Cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
8 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

M Panel mount

Model KGWO06050TV-LP28 KGW06075TV-LP28 KGW06100TV-LP28 KGW06125TV-LP28|KGW06050MV-LP28| KGW06075MV-LP28 KGW06100MV-LP28| KGW06125MV-LP28
(Opposite hand) KGW06050TV-RP28\KGW06075TV-RP28\KGW06100TV-RP28\KGW06125TV-RP28 KGW06050MV-RP28\KGW06075MV-RP28 KGW06100MV-RP28\KGW06125MV-RP28
= [Travel distance +10° | +8° | +6° | +5° +10° | +8° +6° | +5°

S (Stage surface size 60x60mm 60x60mm

S |Connector type Pigtail Panel Mount

% Travel mechanism Worm gear Worm gear Worm gear Worm gear Worm gear Worm gear Worm gear Worm gear
2 |(Reduction ratio) (1/160) (1/225) (1/292) (1/360) (1/160) (1/225) (1/292) (1/360)
= |Guide Cross Roller Guide Cross Roller Guide

% Main materials-Finishing Aluminum - Black alumite finishing Aluminum - Black alumite finishing

= |Weight 0.4kg 0.39g

=S|Hight of stage 25+0.2mm 25+0.2mm

32 Height of center rotation|  50x02mm | 75x02mm | 100£0.2mm | 125x0.2mm 50£02mm | 75x02mm | 100£0.2mm | 125x0.2mm
&3 o accuracy of center rotaion 0.01mm 0.01mm

& |Resolution/Pulse 0.0045°(Full) 0.0032°(Full) 0.002466°(Full) 0.002°(Full) 0.0045°(Full) 0.0032°(Full) 0.002466°(Full) 0.002°(Full)
S |MAX speed 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz] 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz]
E Repeatailty positioning accuracy +0.003° +0.003°

2 |Load capacity 5kgf [49N] 5kgf [49N]

i Moment stiffness Pitch 0.30/Yaw 0.10/Roll 0.11["/N + c¢m] Pitch 0.30/Yaw 0.10/Roll 0.11["/N « cm]

S’ |Lost motion 0.01° 0.01°

o» |Limit sensor Available Available

% Origin sensor Available Available

Slit origin sensor

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 0.44kg for the pigtail specification and 0.43kg for the panel mount specification.



Dimensions

KGWO06-TV-LP28 Series

128.5

31 26
1 —
-
-
oL
4-M4 5DP/ _4-M3 5DP P4(H7) 5DP

®éfrom the opossite (H7) 3DP

Connector HR10A-10J-12P(HRS)
Connector HR1A-10P-12S(HRS)

ow

28

B

©221868

Center of rotation Center of rotation Center of rotation
° Center of rotation ° | i ° 9
© Scale 1° vernier 0.1° ~ Scale 1° vernier 0.1 2 Scale 0.5° vernier 0.05° T Scale 0.5° vernier 0.05°
o ® o o ® ° o
ol w| . et . f el : : !
‘“enge “grﬂﬁé jﬁﬁ% “;rﬂﬁh A@‘ ﬁﬂ% NngHE o Eu:ﬁﬂ%
~ 50 3 50 g 50 2 50
KGWO06050TV-LP28 KGWO06075TV-LP28 KGWO06100TV-LP28 KGWO06125TV-LP28
KGWO06-TV-LS38 Series
128.5
Connector HR10A-10J-12P(HRS)
(AES L a4 18 Connector HRTA-10P-12SHRS) = =
32 =
® ® NN 8
2 90|
B o o 5.5/ 1413 =
9 0 0 B P e
. & 3 I|é|
Sleiay Qa2 g §
@ Q ®
& ‘x\ ﬂij L |
,J\0 © By) =
D4(H7) 5DP
4-M4 5DP/ 4-M3 5DP ®4from the opossite (H7) 3DP
M Center of rotation Center of rotation
Center of rotation o - ©
3 R i R 2 Scale 1° vernier 0.1° S Scale 0.5° vernier 0.05° & Scale 0.5° vernier 0.05°
Scale 1° vernier 0.1 .
3 3l
o om ® i om ® [
w » [ | H
) erH& ) grﬂ%ﬁw«w‘f: a1 Hg% !
0 SV
N "’ 50 | 50
KGWO06050TV-LS38 KGWO06075TV-LS38 KGWO06100TV-LS38 KGWO06125TV-LS38
KGWO06-TV-LS40 Series
128.5 Connector HR10A-10J-12P(HRS)
n1.5 60 44 13 Connector HR1A-10P-12S(HRS)
50 Ow ® .
32 PC.D.46 ° N
l ® ® 5.5 35
S — vl S
gee - 858
N
i ©0 e o e
©
R lll=
e okl —
4-M4 5DP//4-M3 5DP P4(H7) 5DP
®dfrom the opossite (H7) 3DP
5 [ T\ Center of rotation Center of rotation Center of rotation
o Center of rotation - ° q
© Scale 1° vernier 0.1° ™~ Scale 1° vernier 0.1 = Scale 0.5° vernier 0.05° +— Scale 0.5° vernier 0.05
3 3l
©m ®© om ) i T3 ® 1
9 . . Qe » ,/ . Q< %% . ¢ }
o DT e ZT =i T 21 Vg e il
< 50 50 50
KGWO06050TV-LS40 KGWO06075TV-LS40 KGWO06100TV-LS40 KGWO06125TV-LS40




| Motorized Stage

M Goniometer Stagel 160 : KAWOGBYV (2-axis)

KAWO06050TV-RP28

025

KAWO06050TV-LP28

KAW06050 TV-L P28-[]

Accessory P8 | s | s
Motor bracket 0]
installed on main body)
Coupling
(with screws) o

_ [Formotor | sofM256 [ sofM3-12 | dofM4-12
Mounting For ai
screw or Main R

Body 4of M4-10

Sensor cable O(HR10AP-S-SB-6-[1)

* Sensor cable: Select from 2m, 3m, 5m

n Height of center rotation (W.D.)

[E sensor cover location specification

050 | 50mm L [ Lposition
075 | 75mm R | Opposite hand
100 100mm

n Application Motor

H connector specifications Code Specification
P28 [[128 Stepping motor specification
S38 [138 Servo motor specification
S40 [7140 Servo motor specifications
i ol E Cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire
M Panel mount F@
SPEC
Model KAWO06050TV-LP28 | KAW06075TV-LP28| KAWO06100TV-LP28 KAW06050MV-LP28 KAW06075MV-LP28 KAW06100MV-LP28
(Opposite hand) KAWO06050TV-RP28 KAW06075TV-RP28 KAW06100TV-RP28 KAW06050MV-RP28 KAW06075MV-RP28 KAW06100MV-RP28
Travel distance Upper/Lower axis +10°/+8° +8°/+6° +6°/+5° +10°/+8° +8°/+6° +6°/+5°
§ Stage surface size 60x60mm 60x60mm
g Connector type Pigtail Panel Mount
8 [Travel mechanism|Upper Worm gear(1/160) Worm gear(1/225) Worm gear(1/292) Worm gear(1/160) Worm gear(1/225) Worm gear(1/292)
}'z (Reduction ratio) |Lower Worm gear(1/225) Worm gear(1/292) Worm gear(1/360) Worm gear(1/225) Worm gear(1/292) Worm gear(1/360)
§"3 Guide Cross Roller Guide Cross Roller Guide
§’- Main materials-Finishing Aluminum - Black alumite finishing Aluminum - Black alumite finishing
Weight 0.80kg 0.78kg
=5 Hight of stage 50+0.4mm 50+0.4mm
35 |Height of center rotation 50+0.4mm | 75+0.4mm | 100+0.4mm 50+0.4mm \ 75+0.4mm | 100+0.4mm
& § Runout accuracy of center rotation — —
Resolution/  |Upper 0.0045°(Full) 0.0032°(Full) 0.002466°(Full) 0.0045°(Full) 0.0032°(Full) 0.002466°(Full)
§ Pulse Lower 0.0032°(Full) 0.002466°(Full) 0.002°(Full) 0.0032°(Full) 0.002466°(Full) 0.002°(Full)
§ MAX speed Upper 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz]
o Lower 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz]
§_ Repeatability positioning accuracy +0.003° +0.003°
§:’ Load capacity 4.5kgf[44.1N] 4.5kgf[44.1N]
S |Moment stiffness Pitch 0.41/Yaw 0.20/Roll 0.41["/N + cm] Pitch 0.41/Yaw 0.20/Roll 0.41[""/N « cm]
Lost motion 0.01° 0.01°
¢ |Limit sensor Available Available
% Origin sensor Available Available
= |Slit origin sensor — —

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 0.88kg for the pigtail specification and 0.86kg for the panel mount specification.



Dimensions

KAWO06-TV-LP28 Series

128.5
n1.5 60 31 26
50
32
o]
,5 Comector HR10A-10J-12P(HRS)
o|lol Connector HR10A-10P-12S(HRS)
©| 1Bl m
|
3 | T
4-M3 5DP _4-M4 5DP
& 4 (H7) 5DP
‘ 0] 1 ‘ ®4 from the opossite (H7) 3DP
& Center of rotation,
I 8
Center of rotation -
Moo
=) Center of rotation
3 Lenter of rotation,
8, 7 8 o 7 8l < AT D 7
R Frd : o |¥8< : B 88 I LS A SN A ©
Beal. pmamek LWEP gy | e gy e
o) ! ! pa— } | 5 Thi "
5 4-4.5THRU ®8C'BORE 4-4.5 THRU @8 C'BORE o ol 50 4-4.5 THRU &8 C'BORE
° L0 (Bolt hole for M4) > L150 ®afrom the opossite(H7) 0P ®4from the opossite (H7) 3DP
KAWO06050TV-LP28 KAWO06075TV-LP28 KAWO06100TV-LP28

KAWO06-TV-LS38 Series

128.5
115 60 13
50
32
o) >
L _ iz
@4 B == Connector HR10A-10J-12PIHRS)
o|lglar © Connector HR10A-10P-12S(HRS)
©| 0 ™ @
| [T
=l o —
2 1 & —
4-M3 5DP, 4-M4 5DP
D4 (H7) 5DP
3 [ 0 ] | o4fromthe opossie (H7) 3DP
wf Center of rotation
e Center of rotation / =]
4/ \ N
3 Center of rotation
b
- 4
1 1
8l 8|« ¢
“l & ﬂg 8 B8 T :
p Sl o RN ﬂg
o t L 7 3 l
50 4-4.5THRU 08 C'BORE 50 4-4.5THRU ©8 C'BORE 50 4-4.5 THRU 08 C'BORE
(Bolt hole for M4) ®4from the opossite(H7) 3DP 4from the opossite (H7) 3DP
KAWO06050TV-LS38 KAWO06075TV-LS38 KAWO06100TV-LS38

KAWO06-TV-LS40 Series

KAW06050TV-LS40

(Bolt hole for M4)

®4from the opossite (H7) 3DP

KAW06075TV-LS40

128.5
15 60 a4 i
50
32
©
__ 2
L | Connector HR10A-10J-12PHRS)|
|
ol e Connector HR10A-10P-12S(HRS)
©| 0| M|
| 3
IS |-
8 L
4-M3 5DP _4-M4 5DP
®4 (H7) 5DP
3 ‘ H Ud ‘ ®4from the opossite (H7) 3DP
o
Ha o
o Center of rotation =]
N w
/ 2
o Center of rotation
3
| 2
I
1
8 8|« 8
@ re
g |8 q
9
© ‘\‘I © o I
o ! = L |
(50 4-4.5 THRU ©8 G'BORE 50 4-4.5 THRU 8 C'BORE 150 4-4.5 THRU 8 C'BORE

®4from the opossite (H7) 3DP

KAW06100TV-LS40

026



| Motorized Stage

Electrical Specification: KGW04V/KGWO6V M

Electrical specification

Applicable motor code P28 [ S38 [ S40
Feature For (128 Stepping motor \ For 138 AC Servo motor \ For (140 AC Servo motor
Model KGW04/KGW06
Pig tail Sensor: HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Connector Panel mount Sensor: HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Receiving connector Sensor: HR10A-7P-65(73) (Hirose Electric Co., Ltd.)
Limit sensor Available
Origin sensor Available
Slit origin sensor -
S Do Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
grsoroar Power-supply voltage DC5~24V+5%
Current consumption Total 60mA or less
Control output NPN open collector output DC30V 10mA or less
Output logic On detection (light shield condition): Output transistor OFF (Non-continuity)

Pin allocation - Connection diagram

Motor .
code KGW Series
[Pin allocation] [Connection diagram]
Pigtail specification : Connector model : HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Panel mount specification : Connector model : HR10A-7R-6P(73) (Hirose Electric Co., Ltd.) Sensor board
CWLS
1 [CWLS output r ORG
2 |CCWLS output |
3 |ORG output  Regulator
4 |N.C. vin i CoWLS
5 | Power input V+ L
6 | Power input GND GND
P28
g
538 § [Cable model]
° = | Model:HR10AP-S-SB-6-[] ((is the length.)
S40 * Fixed
_ Sensor side A Jsack | Pin_| Signals
Connector: HR10A-7P-65(73) (Hirose Electric Co., Ltd.) 1 T*EEE 1 CWLS
: : 2 CCWLS
ULAWM20276 AWG28 3P Black : Cray/Black ; 3 ORG
AN L ceyees | L P4 NoRg
1 White /Black ! 5 V+
| Whte/Red | | 6 Vo
b Shield !
2m :%50 mm s 3Mm 550 mm s om jf 50 mm *The shields are connected with the connector shell.

The origin - Opposite

Mechanical limit endface end face Mechanical limit
Mechanical stopper /| N\
COW Limit CW Limit Undetected point
mr Imi P (in the stage of light entrance)
COW Limit pain g st coniion
F};ﬁ%q I Undetected point
ek . (in the stage of light entrance)
D Origin Sensor  peecton gt shild condtr)
Opposite )
end face The origin end face (Stroke center) Undetected point
CW Limit (in the stage of light entrance)

Detection (light shield condition)

CW Limit Stroke center CCW Limit

Unit [deg.] Direction of CW - P Direction of CCW
Reference coordinate CW Limit Th&gﬂ%"c%"nq[gsce Opposite end face CCW Limit
KGWO04040T(M) Return to origin 8.5 0 2.5 8.5
KGWO04060T (M) Return to origin 6.5 0 2.1 6.5
KGWO06050T (M) Return to origin 10.5 0 2.5 10.5
KGWO06075T(M) Return to origin 8.3 0 1.8 8.3
KGWO06100T(M) Return to origin 6.3 0 1.4 6.3
KGWO06125T(M) Return to origin 52 0 1.1 5.2

* Return to origin means that is performed return to origin type 4 using DS102/DS112 series.
* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 deg.

ML Note: The timing chart shows only timing of sensor, it is not for output signal logic.
027 Refer to ON/OFF display of output transistor that shows on electrical specifications-sensor-output logic for output signal logic.



Applicable motor code
Sensor cable
(HR10AP-S-SB-6-[])

Sensor —@
S38 [138mm

For AC servo motor
All customers are required to prepare
DC24V power, controller and PLC by themselves.

S40 [J40mm Motor Motor cable Motor drive
Power supply

For AC servo motor
4
1 QH L.
,’ Controller PLC

P28 [128mm Stage main body
For Stepping motor

[Precautions for handling motorless products)

[important]
Unlike normal products, this is a motorless product with no drive source.
Please be sure to read and agree to the "Scope of Warranty" and "Precautions and Restrictions for Use" before purchasing.

@ Warranty range
The following items are not covered by the warranty.

- Faults and troubles related to motor mounting adjustment
« Accuracy after motor assembly by customer

* Accuracy inspection is performed on the inspection motor to confirm that it is within the standard value.

@ Precautions and restrictions on use

1. Specs: load capacity and maximum speed
Since it depends on the configuration of the main body of the motorized stage, please use it within the specifications of this product regardless of
the performance of the motor. The distance between the limit sensor and the mechanical limit is short, and an overrun may cause collision with the
mechanical limit. Please note that collisions with mechanical limits may adversely affect product accuracy and durability.

2. Torque limit
Using a high-torque motor may give a load that exceeds the product's allowable limit. If the motor torque exceeds 0.25 N « m, please apply the

torque limit.

3. Mounting the motor

Align the body, motor, and coupling before mounting.
Operation in a misalignment situation may lead to early product damage and deterioration. Please refer to the attached assembly procedure

manual and adjust the assembly.

4. Fixing the connector
There are products that require the customer to fix the connector. Before fixing, the connector part and the main body are connected only by the
lead wire, which may cause disconnection, so please handle with care.




| Motorized Stage

Sinemotion Rotary Stage ¢40:KRB04017V

T w [ w

-Motor brackgt o

(installed on main body)

M Coupling (with screws) O

WScrews | For Motor dofM256 | 4otm312 | 2o0fMa-12
For Main  [KRB0O4 3 of M3-25
By [xreos 3 of M4-25

nsor cabl
(:n?eOnsg e?]?iblsose) OMRI0AP-5-58-6-2

Model

Option code

KRB04017V-P28
S a

Application Motor

Pin allocation (Sensor)

Sensor substrate

CWLS |

’7 ORGI..

— 1|CWLS output
Code Speci cation 2GCWLS output
P28 | []28 Steppingmotor 3[0RG outputoren e !—‘:
S38 [138 Servo motor 4(N.C. COWLS
S40 []40 Servo motor 5 | Power input(+) Vin Vout—
6 | Power input(—) GND
Sensor cable (HR10AP-S-SB-6-2)
Sensor — @
Motor Motor cable Motor driver power
s il U
| ,’ : Controller PLC
Model KRB04017V-P28 KRB04017V-S38 KRB04017V-S40
& |Travel length +8.5°
g Table size $40mm
2 Travel mechanism Ball screw ¢6 lead 1
% Guide Combination angular ball bearing
&g"' Main materials-Finishing Aluminum — Black almite finishing
- Resolution (Pulse) =0.0067° (Full)
g |MAX speed 102°/sec [15kHz]
§ Repeatability positioning accuracy +0.003°
E Load capacity 4.0kgf[39.2N]
2 |Moment stiffness 0.52"/N -+ cm
g [Lost motion 0.003°
§' Backlash 0.01°
Parallelism 50um

SENSOR

Limit sensor

Installed

Origin sensor

Installed

Slit origin sensor

Model

Photo microsensor EE-SX4320 (Omron Co., Ltd.)

Power voltage

DC5~24V  +10%

Consumption current

Total 60mA or less

Control output

NPN open collector output DC5~24V 8mA or less
Residual voltage 0.3V or less when the load current is 2mA

Output logic

On detection (light shield condition): Output transistor OFF (Non-continuity)

m % SPEC is reference for the standard model




Motorized Stage

KRB04017V-P28
88.3

40 48.3
20 41
3-3.5 THRU ¢6 C'BORE 16 16

(Bolt hole for M3) 10 10 sl
]

3-M36 DP

59
2
16 6
10 | 1
-
& 4 &

| B O)
®4 (H7) 5 DP, 8-M24DP
40

I
4 o
0 g
™| f j: %2 a0
(r:‘ 2 i [ﬁ ﬁ ~
KL = 9
|
71145 1
=]

KRB04017V-S38 9.5
40 535
20
3-3.5 THRU ¢6 C'BORE 16 ] 16
(Bolt hole for M3) 10_[10
3-M3 6 DP
® . ®
R 1 g g
2o
kN NN "
e o4 ¢
2B~ i <+
3
O 0
/
©l  ®4(H7)5DP, 8-M2 4 DP
40
T
I ]
Bl it
w2l
I
| } | [ T8
0 7 26 35 |
b =
3
s
k=3
KRB04017V-S40 93.5
20 535
20
3-3.5 THRU ¢6 C'BORE 6 1 16

4-M4

(Bolt hole for M3) 10_[ 10, L
3-M3 6 DP &

(5 . @
259:, <+ 4 4 ] D
LT“ .
DLY\V ¥ d
8B i ﬁ
) / \ @
el o4(H7) 5D 8-M2 4 DP
40 3
! 7
i —
4 H]
Bwl ! i =
53 i = §
R 3
i || (=]
- 7] 265 3 5
©° =z
8

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range

In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.

- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.

- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using

1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.

4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.

@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.




| Motorized Stage

Sinemotion Rotary Stage ¢60:KRB06011V

T w [ w

-Motor brack(?t o

(installed on main body)

M Coupling (with screws) O

WScrews | For Motor dofM256 | 4otm312 | 2o0fMa-12
For Main  [KRB0O4 3 of M3-25
By [xreos 3 of M4-25

nsor cabl
(:n?eOnsg ef]?iblsose) OMRI0AP-5-58-6-2

Model

Option code

KRB06011V-P28
S a

Application Motor

Code Speci cation

P28 [1]28 Steppingmotor

S38 [138 Servo motor

S40 (1140 Servo motor

Model

Pin allocation (Sensor)

Sensor substrate

cwLs

Fonm

Sensor — @

Sensor cable (HR10AP-S-SB-6-2)

1|CWLS output

2| CCWLS output -

3| ORG outputorst) ﬁg.gylgyg{

4/N.C. ’—“V'” I| cewis
5 | Power input(+) lono |

6 Power input(—) L= !

Please provided by the customer.

Motor Motor cable

Motor driver

’/9 H
#{HP})

power

Controller

PLC

L0RRaL12adS RAIUBYIN

KRB06011V-P28 KRB06011V-S38 KRB06011V-S40
Travel length +5.5°
Table size $60mm
Travel mechanism Ball screw ¢6 lead 1
Guide Combination angular ball bearing

Main materials-Finishing

Aluminum —Black almite finishing

Resolution/Pulse

=0.0042° (Full)

g MAX speed 64°/5ec [15kHz]

S Repeatability positioning accuracy +0.003°

E Load capacity 6.0kgf[58.8N]

& |Moment stiffness 0.25"/N - cm

&' |Lost motion 0.003°

§' Backlash 0.01°
Parallelism 50pm

SENSOR

Limit sensor Installed

Origin sensor Installed

Slit origin sensor

Model

Photo microsensor EE-SX4320 (Omron Co., Ltd.)

Power voltage

DC5~24V  +10%

Consumption current

Total 60mA or less

Control output

NPN open collector output DC5~24V 8mA or less

Residual voltage 0.3V or less when the load current is 2mA

Output logic

0On detection (light shield condition): Output transistor OFF (Non-continuity)

m % SPEC is reference for the standard model




Motorized Stage

KRB06011V-P28 988
60 388
30 315
3-4.5THRU 08 C'BORE % 2 s
(Bolt hole for M4) 16 | 16 .
D) o D} 3M460p
=] o o
Yo
661 o d
ol e Y I
R o
TNt /% T
%) =
N
/@ cHl
Transmission hole dia.®12 (H7), 8-M3 5 DP
P60
= —
8la ( i — I
s
NIS| ||
AR -
0
59| | 145
KRB06011V-S38 104
60 “
30
3-45THRU &8 C'BORE % %
(Bolt hole for M4) 16 16 145
T D swmaeore
Sl o o
g o
O I %
o e J I
87 & " & d
A &, o)
) &
@
+,
i cil g \

o)
; 8-M3 5 DP
Transmission hole dia. $12 (H7), 60 0

= -
1
8| ( [
IR (N
S| i
Sl
i =
@ 5.9 26
<
KRBO6011V-540 e
60 44
30 23
3-4.5 THRU ¢8 C'BORE 25 25 s
(Bolt hole for M) 16 16
3-M4 6 DP
8w -
“le % @LQ a
e i 4-m4
D @) .
7l o = [
a7 = i ==
$ =
] \
/ \
1 i
5 ) (
@ +
Transmission hole dia. ®12 (H7), 8-M350P
D60
= =l
1
8| ( 1
SER
Sig| i
S
i —
o 5.9 265
I

[In order to avoid damaging the motor-less product, please take the following precautions when handling them.)

@ Guarantee range
In difference to a conventional product, the guarantee range of the motor-less product will be limited due to no driving source, and notice the following attentions.

- Defect or trouble, according to motor mounting adjustment is not covered under the warranty.
- The accuracy assumes a motor test result for our inspection a guarantee level, and the accuracy after the motor mounting by the customer should be the guarantee outside.

@Precautions and restricts on using

1.As load capacity and maximum speed depend on configuration of stage main body, please refrain from the use exceed the spec.
As distance is short between limit sensor and mechanical limit, collision with mechanical limit will incur due to over-run.
Please make sure the frequent repetition collision, it may adversely affect stage accuracy and rigidity.

2.The use with the high torque motor may give load more than the stage permission.
Please use for under 0.25N « m product or under the torque limit.

3. Very careful centering is required especially when a main body, motor and coupling is applied.
The operation that not enough centering may cause the damage or deterioration of the product early.
Please see the attached operating and assembly sheet for mounting adjustment.

4. Some products may need fixing part of the connector on your side.
Disconnection may occur before fixation due to a connector and the main body is connected only with lead. Please handle with care.

@At the time of purchase
When placing an order, please be sure the above-mentioned, and on the premise of agreeing with guarantee coverage and attention / limitation items.



| Motorized Stage

M Rotary Stage $39/[]40:KRW04360V

(4]

KRW04360TV-LP28

KRW04360MV-LP28

Accessory P8 | s | s
Motor bracket @)
(installed on main body)
Coupling
(with screws) o

_[Formotor | 20fM256 [ 4otMa-12 [ 20tMa-12
Mounting For liai
screw or Main _

Body 3 of M3-30

Sensor cable O(HR10AP-S-SB-6-[)
Hex wrench o
(for motor mounting) - -

KRW04 360 M| V-L P28-[]

* Sensor cable: Select from 2m, 3m, 5m

n Connector specifications

E Motor location specification

T | Pigtail

M Panel mount

Stage surface shape

Blank | Circular

L | Lposition
R | Opposite hand

n Application Motor

Code Specification

P28 (128 Stepping motor specification
S38 [7138 Servo motor specification
S40 (140 Servo motor specifications

H cable option

Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

S | Square
SPEC
Model KRW04360TV-LP28 KRW04360MV-LP28
(Opposite hand) KRWO04360TV-RP28 KRW04360MV-RP28
- Travel length 360°
& |Table size ®39mm (40 X40mm)
%- Connector specifications Pig tail Panel mount
& [Travel mechanism (Reduction ratio) Worm gear (Reduction ratio 1/120)
% Guide Deep groove ball bearing
g—i Main materials-Finishing Aluminum—Black almite finishing
= [Weight 0.31kg | 0.28kg
Resolution/Pulse 0.006°
MAX speed 30°/sec
Z |Positioning accuracy 0.05°
g Repeatability positioning accuracy +0.01°
§ Load capacity 3kgf[29.4N]
§ Moment stiffness 0.74"/N « cm
S: |Lost motion 0.05°
8 [Backlash 0.1°
S [Parallelism 50um
Eccentricity 5um
Runout 30um
o |Limit sensor —
§ Origin sensor Installed
o " PP
= |Slit origin sensor —

%1 The figure in parenthesis is the stage surface size when the Stage surface shape option: square (S) is selected.

% SPEC is the value of the standard motor.

% When the applicable motor code [S38/5S40] is selected, the weight is 0.32kg for the pigtail specification and 0.29kg for the panel mount

specification.



Dimensions

KRWO04360TV-LP28

97.5
65 40 51
3-3.5THRU (p6C'BORE 0 _ . z
(Bolt hole for M3) 10110 ‘ 16.5
i
) - @ o
(=] &
N A # 4//
ERARSA it uN N o L
P IR N A /7 Y
¢ </ o S -
I E)j -
= (\ =
Hl - N
L O —
o 8-M2 4DP 1150115 \ 2-93
Transmission hole dia. d8 (H7)
39
T
! i T
: R
] (= - = i = I CE T
ISIGY ‘ | | =3 -
i
55| |14.5]| 2.5 25
KRW04360TV-LS38
1125
6.5 40 66
20 36
3-3.5THRU 6C'BORE 32 165
(Bolt hole for M3) 10 4-M3
&
o
5= 3
) —
i
o)
Transmission hole dia. $8 (H7)
- (a9 \E-M24DP
s 1
wlo | EJ = M /
“lge L B TR A
i |1 = H /
@ 5 1%
o ZlE= g 3]
55 285 |35 IS
'z
N
©
KRW04360TV-LS40
1125
6.5 40 66
20 36
3-3.5THRU 6C'BORE 32
(Bolt hole for M3) 10 4-M4
8 L
o
= ” 3
) —
i
[=2] L] @
Transmission hole dia. $8 (H7)
- (a9 \E-M24DP
@
\ Vi =
3|2 | - =
&= L SR
| | == H
[t}
o

55

n
©
w
-0.003
b4 506




M Rotary Stage $59/[160:KRW06360V

031

| Motorized Stage

KRW06360TV-LP28

KRWO06360MV-LP28

m | |
Motor bracket 0
(installed on main body)
Coupling
(with screws) o
_[Formotor | 20fM256 [ 4otMz12 | 20tmd-12
Mounting Foria
screw or Main 3
- Body 3 of M4-30
Sensor cable O(HR10AP-S-SB-6-[1)
Hex wrench 0 _ _
(for motor mounting)

* Sensor cable: Select from 2m, 3m, 5m

KRW06360 M[| V-

n Connector specifications

E Motor location specification

T Pig tail

M Panel mount

Stage surface shape

Blank | Circular

L | Lposition

R | Opposite hand

n Application Motor

Code Specification

P28 (128 Stepping motor specification

S38 [[138 Servo motor specification

S40 [140 Servo motor specifications

E Cable option

Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

S | Square
Model KRW06360TV-LP28 KRWO06360MV-LP28
(Opposite hand) KRWO06360TV-RP28 KRW06360MV-RP28
- Travel length 360°
&8 [Table size (3%1) $59mm (60 X 60mm)
%’ Connector specifications Pig tail Panel mount
& [Travel mechanism (Reduction ratio) Worm gear (Reduction ratio 1/180)
% Guide Deep groove ball bearing
g—’. Main materials-Finishing Aluminum—Black almite finishing
= |Weight 0.51kg 0.48kg
Resolution/Pulse 0.004°
MAX speed 20°/sec
Z |Positioning accuracy 0.05°
2 Repeatability positioning accuracy +0.01°
§ Load capacity 3kgf[29.4N]
§ Moment stiffness 0.2"/N - cm
£: |Lost motion 0.05°
2 [Backlash 0.05°
S [parallelism 50pm
Eccentricity 5um
Runout 30um
o |Limit sensor —
% Origin sensor Installed

Slit origin sensor

%1 The figure in parenthesis is the stage surface size when the Stage surface shape option: square (S) is selected.

% SPEC is the value of the standard motor.

% When the applicable motor code [S38/S40] is selected, the weight is 0.52kg for the pigtail specification and 0.49kg for the panel mount

specification.



KRW06360TV-LP28

O

45

3-4.5THRU $8C'BORE

16

77
74
25
16

a1

Transmission hole dia. 30

8-M3 6DP

4-M4 from the opposite 6DP

17

@)

©,

®)

e

\J
#10)

A

63

jry
—
93]

< [15[115

gm-m_v q + ﬁED U,r[!’t
2 0 &
25 3
KRW06360TV-LS38
605
30.5

3-4.5THRU ¢8C'BORE

30
20

74

VR

83
25
20

o]l

Transmissiorﬁole dia. $30

=]

4-M4 from the opposite 6DP

<

D

35

7514

—
L [T
=]

KRW06360TV-LS40

60.5

30.5

30

83
74

25

1

Transmissioﬁole dia. $30

s/

4-M4 from the opposite 6DP

{

35

=]
<« [ S
= i i
=
o) gg
~ 33
<
29.5 ‘3 ©




| Motorized Stage

Electrical Specification : KRW04V/KRWO0O6V

Electrical specification

Applicable motor code P28 \ S38 | S40
Feature For (128 Stepping motor \ For 138 AC Servo motor \ For (140 AC Servo motor
Model KRW04/KRW06
Pig tail Sensor: HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Connector Panel mount Sensor: HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Receiving connector Sensor: HR10A-7P-65(73) (Hirose Electric Co., Ltd.)
Limit sensor -
Origin sensor Available
Slit origin sensor -
sensoiboad Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
Power-supply voltage DC5~24V+5%
Current consumption Total 35mA or less
Control output NPN open collector output DC30V 10mA or less
Output logic On detection (light shield condition): Output transistor OFF (Non-continuity)
Pin allocation - Connection diagram
Motor KRW Series
[Pin allocation] [Connection diagram]
Pigtail specification : Connector model : HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Panel mount specification : Connector model : HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Sensor board
1 | Not used (or CWLS)
2 | Not used (or CCWLS)
3 | ORG output
4 |N.C.
5 | Power input V+ Vin
6 | Power input GND GND
P28 Regulator
g
S38 § [Cable model]
° = | Model:HR10AP-S-SB-6-[] ((is the length.)
S40 * Fixed Sensor side
Connector: HR10A-7P-65(73) (Hirose Electric Co., Ltd.) prommemmmosmoeoos | Pin | Signals
i /Black % 1 CWLS
ULAWM20276 AWG28 3P Black 1 [Red ; 2 CCWLS
\ 3 Gray / Bl_ack : 3 ORG
Il R | "4 | NORG
: White/ Black : 5 v+
—[iifta/ feg : 6 V-
b Shield ‘
2m ;%050 mm » oM ijO mm s oM jE)1 %0 mm The shields are connected with the connector shell.

Unit [deg.]

Origin detected scale position

0 (The end face of the origin: CCW side edge of shield plate)

KRW04360**V - L

8 (Opposite end face: CW side edge of shield plate)

KRW06360**V - L

0 (The end face of the origin: CCW side edge of shield plate)
8 (Opposite end face: CW side edge of shield plate)

* Return to origin means that is performed return to origin type 4 using DS102/DS112 series. (DS102/DS112 are dedicated products for 5-phase motors.)

* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 deg.

Unit [deg.]

Origin detected scale position

The end face of the origin: CW side edge of shield plate)

KRW04360**V - R

The end face of the origin: CW side edge of shield plate)

KRW06360V** - R

8 (Opposite end face: CCW side edge of shield plate)

0(
8 (Opposite end face: CCW side edge of shield plate)
0(

* Return to origin means that is performed return to origin type 3 using DS102/DS112 series. (DS102/DS112 are dedicated products for 5-phase motors.)

* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 deg.

033




Applicable motor code
Sensor cable
(HR10AP-S-SB-6-[])

Sensor —@
S38 [138mm

For AC servo motor
All customers are required to prepare
DC24V power, controller and PLC by themselves.

S40 [J40mm Motor Motor cable Motor drive
Power supply

For AC servo motor
4
1 QH L.
,’ Controller PLC

P28 [128mm Stage main body
For Stepping motor

[Precautions for handling motorless products)

[important]
Unlike normal products, this is a motorless product with no drive source.
Please be sure to read and agree to the "Scope of Warranty" and "Precautions and Restrictions for Use" before purchasing.

@ Warranty range
The following items are not covered by the warranty.

- Faults and troubles related to motor mounting adjustment
« Accuracy after motor assembly by customer

* Accuracy inspection is performed on the inspection motor to confirm that it is within the standard value.

@ Precautions and restrictions on use

1. Specs: load capacity and maximum speed
Since it depends on the configuration of the main body of the motorized stage, please use it within the specifications of this product regardless of
the performance of the motor. The distance between the limit sensor and the mechanical limit is short, and an overrun may cause collision with the
mechanical limit. Please note that collisions with mechanical limits may adversely affect product accuracy and durability.

2. Torque limit
Using a high-torque motor may give a load that exceeds the product's allowable limit. If the motor torque exceeds 0.25 N « m, please apply the

torque limit.

3. Mounting the motor

Align the body, motor, and coupling before mounting.
Operation in a misalignment situation may lead to early product damage and deterioration. Please refer to the attached assembly procedure

manual and adjust the assembly.

4. Fixing the connector
There are products that require the customer to fix the connector. Before fixing, the connector part and the main body are connected only by the
lead wire, which may cause disconnection, so please handle with care.






